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I. INTRODUCTION TO FEDERAL TAXATION


A.
she has three main topics



1.
what to include



2.
deductions



3.
acquisition and disposition of property?

B.
mostly simplistic stuff – just to understand the issues


C.
lots about planning


D.
POLICY!!!



1.
tenets of tax policy:




a.
efficiency/neutrality – don’t want to make huge changes in 
people’s behavior through tax – see the window tax of the Middle Ages

i.
government shouldn’t interfere in the market, and 

needs a good reason to do so

-
this isn’t a problem if everything is taxed at 
the same rate






-
but when things are not taxed at the same 

rate, investment flows to where the return is greater





-
a neutral tax does not affect investment 

decisions





ii.
we’ll never have a head or lump sum tax






-
so we just want to minimize interference





iii.
unless the interference is intended





-
but there are some unintended interferences



b.
fairness/mutuality/equity – a tax based on height is not fair





i.
fairness means - being in accordance with relative 

merit or significance; consistent with rules, logic, or ethics




ii.
vertical equity





-
people in the right order






-
those who earn more, pay more






-
if everyone pays 10%, this result is achieved






-
we just don’t want people out of order





-
such as making less but paying a higher 

amount or rate






-
this is political, we don’t talk about it much





iii.
horizontal equity






-
bigger in terms or importance





-
likes should be taxed alike






-
hair example






-
taxed based on hair color







-
but grey is in between







-
you set a rate for grey, but a person 

might be closer to black or white, then you have a violation






-
or if people are paid in different forms







-
but they get the same amount







-
you want them taxed the same







-
like if one person gets money, the 

other oranges

-
so if income is the same, should be taxed the same






-
and you also don’t want different people 

taxed the same





iv.
so a violation of horizontal is also a violation of 

vertical






-
likes taxed differently






-
or differents taxed alike






-
and if likes are not takes alike, people get 

out of order





v.
also – taxes should be based on ability to pay






-
so if it is something you can’t consume or 

give part to the government, shouldn’t tax






-
for example – paycheck vs. computer hard 

drive



2.
two issues about neutrality



a.
labor/leisure





i.
we tax labor not leisure





ii.
leisure is too hard to figure out





iii.
everyone has some amount that gets them off the 

couch

-
if  gets you up, you get a 10 job, but they 

take 2, so you go back to the couch






-
we don’t want to force people back to the 

couch





iv.
and if you are taxed more for making more, we 

lower or remove incentive to work harder




b.
capital/investment





i.
taxes affect investment decisions





ii.
so we want effects to be intended






-
to send investment to something in 

particular





-
to benefit people we think deserve it





-
or to reflect externalities not in the market 

price – like health care or cigs






-
or disincentives – like cigs






-
to regulate – instead of forcing people to do 

things a certain way, we make incentives to do it a certain way


3.
our concerns!!




a.
she will ask what are the effects of something, why it is not 

neutral




b.
the response should be:





i.
taxes some more than others





ii.
changes the price of some things





iii.
or alters investments





iv.
or alters behaviors





v.
or secondary effects






-
primary – if you can’t deduct as much for 

meals with clients, your operations costs more





-
secondary – restaurants gets less money 

spent there, close, jobs lost, government must support, welfare, unemployment, taxes go up




c.
some are easy to spot, some hard




d.
no right or wrong answers





i.
just be able to spot the effects





ii.
bad is unintended effects


4.
a good tax system should be simple




a.
we got it wrong, but it is hard to get right




b.
two issues




i.
we want the taxpayer to be able to get it right






-
we don’t want it to be impossible for the 

taxpayer to figure out





ii.
how can the government fix inequities





iii.
these go together, because to reduce inequities, we 

need complexity






-
for example, if auburn hair is in between red 

and brown, we have inequity unless we make to code more complex to cover that






-
but then someone comes with hair in 

between red and auburn, so you need another provision





iv.
and efficiency is implicated – because it costs 

money to file a return, so that affects people


E.
broad overview



1.
why do we tax?




a.
(normative) to raise money for public goods – defense, 

agriculture




b.
(normative) to redistribute wealth (not this course)



c.
(NON-normative) to regulate behavior





i.
incentives and disincentives




d.
so when we say normative, we mean taxing for the purpose 

of public goods and/or redistribution





i.
non-normative means taxing for 

incentives/disincentives



2.
income tax is the main source of revenue for the United States





i.
some taxes are consumption






-
some not






-
sales tax for example






-
there never has been a federal consumption 

tax





ii.
vat – value added tax – tax is added at each step



a.
although there is also a wage tax – the social security tax – 
but that is supposed to be for retirement




b.
also excise taxes – levied on one certain item, such as 
cigarettes




c.
user fees – like admission to state parks



d.
state taxes – this course is mostly federal




e.
estate and gift taxes




f.
sales



g.
prop




h.
inheritance




i.
wealth





-
not in US




j.
window





-
you can tax anything





-
windows is an example





-
they taxed these in the middle ages because only the 

wealthy used them





-
but then that caused people to stop using windows





-
which is bad – you don’t want to totally change 

people’s behavior





-
although it is impossible to avoid having some 

influence




k.
height





-
Michael Jordan pays lots





-
she is short, pays little





-
why not do this?





-
tenets of tax policy – 






-
first – efficiency – don’t want to cause huge 

changes – see the window tax






-
second – fairness – height tax is not fair







-
we think the income tax is fair




l.
head tax





-
you breed you pay





-
simple





-
many proponents





-
never adopted



3.
we will be focusing on the federal income tax, and it works like 

this:




a.
receipts – exclusions =





gross income





-deductions (above the line and itemized/standard) =





taxable income x your tax rate =





your tax liability – credits =





amount owed




b.
(another way from tax map):





ordinary income





-above the line deductions





-personal exemptions





-itemized or standard deduction





x tax rate =





some number + (capital gains multiplied by cap gains rate)





-credits =





amount owed



4.
the tax is levied on income




a.
it could be anything





i.
windows, height, dogs, anything





ii.
but it’s “income”




b.
income is a term of art




c.
the basic idea is you count up everything taken in





i.
and exclude some things





ii.
and you have gross income




d.
some things are excluded because they don’t fit the idea of 

what income is

i.
like if she takes someone’s cup
ii.
and some things are excluded by choice – like gifts



5.
so the first unit is looking at the exclusions



a.
but if we stop there, the tax is on gross receipts





i.
and no one does that





ii.
like if you spend 8 to make 10, we should take 

account of that





iii.
that’s what “deductions” are for





iv.
and also – if she loses her paycheck – is that 
income? (no, it’s subtracted)




v.
and we also use deductions for incentives – such as 
for charitable donations




b.
there are three kinds of deductions





i.
above the line – gets you adjusted gross income





ii.
and then you get either the itemized or standard






-
for our purposes, they are both deductions



6.
once you have taxable income




a.
you multiply by the rate




b.
our rates are “progressive”





i.
as opposed to a flat tax – where everyone pays the 

same rate





ii.
with a progressive tax – the rate goes up as income 
goes up




iii.
we think those with more money can afford more 

tax





iv.
and note that below a certain amount, there is no tax 

at all




c.
and also be aware that income is taxed in blocks





i.
so that, for example, the first 10,000 is 10%





ii.
the next 10 at 15%





iii.
or something like that




d.
so once we determine tax liability





i.
we take out the credits





ii.
and we have taxes owed




e.
we will spend a little over half the time on the deductions 

and credits





i.
the rest on property transactions






-
like if she buys a painting and it goes down 

in value, or up


7.
also, who is taxed




a.
“taxable unit”




b.
like if kids make money





i.
and can you have your paycheck sent to your kid 
because your kid gets taxed at a lower rate?



8.
time value of money is another huge issue




a.
money now is better than money later




b.
because you can invest it and make more money




c.
and the government taxes annually





i.
so the year money is made and spent matters





ii.
so when you account for stuff, what year you put it 

in matters


F.
sources of tax law



1.
constitution – 16th amend authorizes federal income tax




a.
but now it is all statutory – almost anything goes



2.
congress makes laws




a.
joint committee puts it into comprehensible English





i.
blue book because blue cover




b.
these are the IRC sections



3.
then there are regulations interpreting those



4.
revenue rulings – set facts



5.
revenue procedures – procedural matters



6.
announcements



7.
private letter rulings



8.
case law – should understand how they arise




a.
file taxes by April 15





i.
we have a voluntary tax – meaning you do it 

yourself





ii.
although actually employer withholds most of it and 

sends to government





iii.
you figure out the difference and send them more or 
they send you some




b.
you can get audited





i.
you try to prove what you said





ii.
if they don’t believe you, you can pay or go to court



c.
then you can give up the money in advance and go to 

district court, get a trial to a jury





i.
or go to tax court – you don’t need to pay in 

advance






-
more advanced



d.
you can appeal to circuit courts





i.
tax courts are bound by the district you would be in




e.
rarely do they go to the supreme court

1.
Brief History of Taxation

2.
Current Taxes in the United States

3.
Introduction to Income Tax Terminology

4.
Why Tax Income?


A.
equity, simplicity, efficiency!!
5.
Tax Expenditures - skipped

6.
Overview of the Taxing Process

A.
constitution


B.
legislation


C.
administration


D.
judges

UNIT II

CHAPTER II. – WHAT IS INCOME???
0.
§61 is the biggie here

A.
but they just say gross income is income


B.
but they also enumerate some examples of income



1.
but some things not on the list can be income



2.
and some things not on the list that should be are later excluded – 
such as gifts



3.
and some things later on have whole sections defining them


C.
here is the approach to use:


1.
see if something is listed in § 61




a.
or even if it is listed, might have its own section with a 

refined definition, so go there



2.
if not listed




a.
ask if it fits the idea of income





i.
for example, loans don’t




ii.
nor money spent to make income





iii.
basically it is stuff you get that you spend on 
consumption, I think




b.
it might have its own section, and if so, go there


D.
so all income questions start with § 61, always go there first

E.
labor compensations is the biggest

1.
Compensation for Services


Z.
why is this so complex?



1.
why don’t we just say everything from employer to employee is 

taxable income?



a.
some things you need for your job




b.
some things we can’t give away part of – such as a hard 

drive



2.
but if we only taxed cash, we would have a barter economy



3.
so we can’t tax everything, nor just cash




a.
so we get complexity



4.
the employer knows that some things get taxed, other don’t



5.
it comes down to whether it is compensation or not




a.
dictionary - payment for a thing of value tendered or a 
service rendered

Y.
§ 61(a)(1) – income is compensation for services, including fees, 

commissions, fringe benefits, and similar items


1.
fringe benefits – must see § 132 – some fringes


2.
§ 119 – a specific fringe – meals and lodging


X.
issues


1.
what is income, what is not



2.
how have we skewed the market?



3.
what are the equity effects?



4.
how to do it better


A.
Form of Receipt



1.
compensation is a benefit from employer to employee



a.
so even if not listed, may still be included in income unless 
specifically excluded

i.
and if not specifically excluded, might still be excluded, if it is, for instance:




b.
reimbursement is not income


2.
so if it is a benefit from employer to employee, not reimbursement, 

and he can do whatever he wants with it, it is compensation/income


3.
but what if he can’t do whatever he wants with it



a.
but still a benefit to him





i.
like if they pay his taxes




b.
it’s taxable




i.
although not all benefits are





ii.
so why this one?




c.
because it is compensatory




i.
see Old Colony Trust v. Commissioner



d.
it doesn’t matter that he never sees it




i.
or that he doesn’t directly get it





ii.
or that he can’t do what he wants with it





iii.
otherwise, everyone would just ask their employer 
to pay their bills for them, in return for less of a paycheck




iv.
it’s not the paying of taxes, it is the paying of any 
bill or obligation




e.
so the bottom line is it is income when the employer pays a 

bill or obligation of the employee





i.
employee has to pay that on it




f.
not all benefits from employer to employee are 

compensatory





i.
only those in return for employee doing his/her job

B.
Fringe Benefits


0.
notes




a.
doesn’t need to be from an employer




b.
lots of exceptions





i.
pensions and health being the biggest, which we 

won’t discuss




c.
three important aspects of fringes




i.
rules/laws




ii.
changes in employee action




iii.
justification


1.
Tax Expenditures – skipped


2.
Work-Related Fringe Benefits




a.
there was tremendous confusion on fringes, so § 132 was 

used to try to clear it up





i.
but some things cannot be explained other than to 

point to lobbying




b.
de-minimis fringes





i.
things of such low value




ii.
§ 132(a)(4)






-
and reg 1.132-6(d)(2)




c.
parking vs public transportation





i.
remember externalities – Iowa vs. NY






-
or if employer car is worth 500, and parking 
worth 100, taxes are not enough to affect the decision





ii.
§ 132(f)





-
employer provided car or public 
transportation pass up to $100






-
or parking up to $175







-
must be near, on business, or a 
commuter lot





iii.
see § 132(f)(5) – defines the terms, your benefit 
must fit their definition
-
employer car must fit at least 6 people, for 

example





iv.
basically, a cab is considered a luxury, so that is 

compensation






-
but people consider a parking space for 

granted, so that is not




d.
event tickets





i.
see 1.132(6)(e)(1) – they are excludable





ii.
a de-minimis fringe





iii.
but it must be occasional




e.
remember – people would still prefer a taxed fringe to 
nothing at all




f.
no-additional-cost service





i.
classic example – employee of plane company lets 

you fly free on a space-available basis

-
§ 132(a)(1) & 132(b)
-
often called excess capacity fringes
-
something that would be unused otherwise




ii.
the airlines wanted this – something they can give 

employees that employees like but costs the employer nothing extra




iii.
must be sold in the ordinary course of business





iv.
vs. company jet






-
even if you are just taking an extra seat






-
that seat is not sold in the ordinary course of 

business





v.
congress drew lines based on what you might 
expect to be discriminatory






-
flying on a company jet is only available to 
high-income people





vi.
this is services not products






-
otherwise people would be receiving 

compensation in in-kind products






-
but not all employers have extra products




g.
qualified employee discount





i.
§ 132(c)





ii.
this can be products





iii.
but statute is picky – read it




h.
equity issues





i.
people might be getting the same amount of 

compensations, but one employee pays less tax because some of the compensation is untaxed fringes





ii.
and some fringes worth more or less depending on 

the person receiving them




iii.
argument that the market would even things out 

eventually based on after-tax values

-
but market can’t react perfectly

-
because law changes

-
and some fringes depend on availability





iv.
and employees always prefer cash




v.
and externalities






-
some people are afraid of flying






-
some don’t pay taxes





vi.
but generally, untaxed fringes are better than taxed 

money, if you value the fringe





vii.
but some industries get it better






-
like retail or flying






-
vs some company making widgets that are 

useless to individuals




i.
if firm is interviewing people, and pays for interviewee to 

come (airfare)
i.
132 is for employees, this isn’t an employee

-
not de minimis

ii.
so first we look at the statutory provisions


-
if none apply, we look to § 61 and general 
idea of income (and in this case, United States v. Gotcher)

iii.
question is: whose benefit predominates

-
employer or employee?


-
test loses relevance if carried to an extreme

iv.
this is the test for a business transfer to a non-

employee

-
not just plane fare


-
but, this is really what underlies all fringe 

issues




j.
and what if interviewee brings a spouse?




i.
question is whether spouse is there for pleasure or 

business





ii.
Disney case – court said your odds for success were 

better if you had your spouse with you

-
but that was a high water mark for these 
kinds of cases





iii.
say you need your spouse for x business reason




k.
employee gets discounted price on an apartment




i.
§ 83





ii.
this is a discount in payment for services, as 
opposed to getting a bargain (like the painting at the pawn shop)




iii.
general rule – the discount is income






-
this has to be real property?





iv.
substantial risk of forfeiture and non-transferable






-
you can elect to declare the difference 
between your price and fair market value either when you get it or when it vests






-
you do when you get it if you think it will 
increase in value






-
but you don’t want to declare income if you 
will end up quitting or getting fired, so it never actually vests






-
or, maybe you think you can get a better 
return on the money by investing it than the amount the property will increase in value






-
or maybe in one year you have deductions to 
offset the taxes you pay on the discount





v.
83(b) is declaring the year you get it






-
83(a) is declaring the year it vests





vi.
so if you declare the year you it is transferred – 

83(b) – you don’t report any gains or losses when it 

vests
-
so if it goes down in value:

-
so 83(a) is better – you can wait till the year 

it vests and report the loss





vii.
but remember, if we will pay the same amount of 
taxes in the end, we want to put it off – time value of money





viii.
schenk points out that if you take the 83(a) election, 
you don’t fully own it and you haven’t paid full taxes, so you should be taxed for rent on the portion you have not paid for, but you are not






-
remember – imputed income – like living in 
your own house – is not taxed





ix.
a discount on rent would also qualify, probably



3.
Meals and Lodging




a.
Meals - § 119




i.
the question in whether it is gross income – whether 

it should be taxed




ii.
must be on employer premises – to not be taxed






-
§ 119(a)(1)





iii.
start with § 61, which points to § 132 on fringes 
generally, but § 119 on specific fringes – meals and lodging





iv.
must be for the convenience of the employer





-
see § 119 regulations





-
the classic example is when you have to stay 
at work, so employer brings you the meal so you do not have to leave





-
this is closer to a yellow pad than 
compensation/paycheck





-
small exception – if it is for the convenience 
of more than ½ the employees, it is imputed to be for the convenience of all




v.
if he gets cash not a meal





-
taxable






-
must be in-kind






-
cash is taxable






-
he can do what he wants with it






-
see Commissioner v. Kowalski





-
otherwise, people would ask for money for 

meals and not spend it all, then some compensation is escaping untaxed



b.
what is a business premises




i.
some state troopers tried to say the whole state was 

business premises




c.
but check de-minimis fringes - § 132(a)(4)




i.
more than one section of the code might apply





ii.
see and reg 1.132-6(d)(2)





iii.
meal can be de minimis if occasional and low 

monetary amount




d.
then we ask if we have changed employee behavior





i.
yes, employee goes from indifferent to choosing the 

untaxed one





ii.
but NEVER forget about externalities






-
which might negate any tax benefit






-
like if he can’t eat a certain meal, or prefers 

something else





iii.
also, some people do not care about taxes because 

they don’t pay taxes because they make so little

-
or pay at a very low rate




e.
is employer behavior affected?





i.
yes




ii.
might need to pay employees less





iii.
it’s in employer interest to make employees happier





iv.
employees want untaxed fringes





v.
employees like meals at their desks





vi.
competitors might be doing it




f.
so employers and employees are affected, so you get a lot 

of in-kind meals




g.
justification





i.
congress is wary of not taxing cash – to not tax cash 

would shrink the tax base




ii.
but compare a fancy French meal in employer 

dining room vs hot dog on street





-
the French meal is not taxed, the hot dog is






-
seems a strange distinction – the employer 

premises deal






-
you would think the fancy French meal 

would be the one taxed





iii.
but imagine what you would think they could never 

tax





-
army k-rations






-
or lighthouse keeper in the middle of the 

ocean





iv.
so the tried to distinguish when it is relevant to 

employment

UNIT III – SWAPPED SERVICES, IMPUTED INCOME, GIFTS
1.5.
SWAPPED SERVICES, etc.

A.
swapping services, when not gifts (which are disinterested generosity), is 

income


1.
the amount you got in income is the fair market value of the 

service you got



2.
we have to tax this or we get a barter economy


B.
money, items or services can all be income

2.
IMPUTED INCOME


A.
we don’t tax imputed income


1.
which is money you save by doing something yourself – like 

painting or walking the dog



2.
or your enjoyment of something – like living in your house


B.
example – one person works and extra hour and makes $15 to pay 
someone to walk the dog, that $15 is taxed



1.
another person uses the hour to walk the dog herself




a.
is not taxed


C.
this encourages people to do things themselves instead of using the market



1.
although externalities – like if someone loves walking the dog, 

might override tax advantages



2.
and if she makes way more or less than the dog walking costs, her 

decision is not affected by taxes



3.
but if she makes 16, taxes take it down to 14, and dog walking 
costs 15, she would rather just walk the dog herself


D.
this is a violation of equity – two similar people taxed differently



1.
could say you can deduct the money spent on things you could 
have done yourself – but that just wouldn’t work


2.
or we could try to tax people for doing things themselves – but that 
wouldn’t really work either


E.
this creates incentive to stay home and do things yourself



1.
but only to the extent that you cannot make more/much in the labor 

market (such a people with less education) – stay home and be housewives

3.
GIFTS AND BEQUESTS


A.
GIFTS - § 102


1.
it’s not income if it is a gift made out of disinterested generosity



a.
so for a panhandler hypo, and the money he receives – 





i.
did he perform (more like compensation)





ii.
did he ask? (more like compensation)





iii.
maybe he makes so little it does not matter



2.
Commissioner v. Duberstein




a.
court said that it comes down to intention of the donor



b.
whether it was disinterested generosity or not




c.
it’s a question of fact for the trier of fact



3.
over time, categories emerged




a.
from a family member – probably a gift




b.
from employer – CAN’T be a gift - § 102(c)



4.
why don’t we eliminate the problem and tax all gifts




a.
we can’t tax transfers like food to spouse and kids, ever


5.
note, there is a special gift tax, on transfers, a companion to the 

estate tax

a.
that says a gift is anything transferred for inadequate 

consideration
b.
no inquiry into motivation

c.
easier, why don’t we do that?



6.
some examples



a.
mother pays son’s tuition





i.
this is a gift or support – untaxed




b.
same for grandfather giving kid cash for tuition




i.
it’s a gift




c.
full tuition scholarship award for private college




i.
§ 117 excludes scholarships from income




d.
no tuition paid as a state resident at a state college




i.
transfers/benefits from the state are generally 
considered nontaxable




e.
guy uses his own money from work paycheck to pay his 

own tuition

i.
taxed




f.
guy reads and listens to educational tapes for a year





i.
untaxed imputed income



g.
employer pays employee’s tuition, even after she quits




i.
taxed, even after she quits





ii.
can’t get out of the tax by calling it a scholarship



7.
two issue on horizontal equity



a.
first – how should we design the system in the first place?





i.
if we repeal 117 we have issues




ii.
then the employee is more equal





iii.
but what about people who get money from the 

family?





iv.
if we let everyone who spends on education deduct, 
the guy who spends his money on something else objects





v.
and then, if we let everyone deduct everything, we 
don’t have a government




b.
hard to reform this



c.
ON THE FINAL, SHE WILL ASK United States ABOUT 
A PROPOSED AMENDMENT – WE WILL HAVE TO SAY WHO IT WOULD AFFECT AND IN WHAT WAYS AND WHAT THE EQUITY CONSIDERATIONS WOULD BE!!!!!!!!!!


B.
BEQUESTS



1.
also excludable under § 102


2.
property gained from a will

C.
SCHOLARSHIPS AND FELLOWSHIPS



1.
excludable under § 117
UNIT IV

3.5.
TIME VALUE OF MONEY


A.
you can use money over time to make more money



1.
by investing it



2.
so money now is better than money later



3.
and paying taxes later rather than now is a great benefit

4.
CAPTIAL APPRECIATION AND RECOVERY OF BASIS


A.
basis is what you put in, and we don’t tax that


1.
we only tax the change in wealth


B.
Hort v. Commissioner



1.
if you own a building, and someone leases it



2.
and you negotiate less than the amount owed in return for 

canceling the lease



3.
you have gains not losses

5.
THE REALIZATION REQUIREMENT

A.
the realization rule is considered a loophole, a great benefit for taxpayers


1.
because if you assume a “discount rate,” 784 is worth 1000 in 5 

years, for example


2.
so you are paying less taxes, in a sense




a.
getting the benefit of your money



3.
this encourages people not to sell, because they will lose a chunk 

of their investment, even if all a person wants to do is switch assets
a.
although we’ll see some exceptions


4.
imagine you have an empty lot, and options on how to use it



a.
sell and invest in something else




i.
even if the other thing has a better return, taxes 
might cause you to keep the land because you would lose a chunk of it in taxes, and have less to invest in the next asset





ii.
and notice – bonds get taxes yearly because they 

make interest and interest is taxes yearly




iii.
that is why things that appreciate in value are better 

investments when it comes to taxes




b.
if you use the land, and enjoy it, that is imputed income and 

it is not taxed at all



c.
hold for investment





i.
see a. above




d.
so why would anyone buy bonds





i.
more liquid, easier to sell





ii.
and you might need that income stream – the 
interest – if the land goes up in value, you can’t buy food with that






-
although you can use it for collateral for a 
loan




iii.
the market responds – the return on the bonds has to 

go up or else some get exempted from taxes by the government






-
although not everyone is taxed at the same 
rate, so the market cannot respond perfectly

B.
see § 61 – gains are taxed


1.
that is amount realized minus basis



2.
this is the realization rule – see page 599 in the statutes



3.
§ 1001


C.
so why do we have the realization rule, if it is such a benefit for 

taxpayers?


1.
we don’t see it as that you have gained anything



a.
but you would rather be the person whose prop went up 

than not



2.
well, you don’t have cash to pay your taxes with




a.
but if that was the only consideration, people would just be 
always swapping – the barter economy again



3.
it would be an administrative nightmare – constantly valuing 

everything
a.
although some stuff is easy to value – such as stock



4.
volatility




a.
when economy goes up, pay lots of taxes




b.
then economy goes down, you don’t have any money to 

pay taxes, and neither does the government



5.
people see it as paper gains



a.
as we said, you would rather have paper gains than not




b.
but congress bought the paper gains idea



6.
people get really creative



a.
they try to monetize the stuff but keep it and not have a 

realization event so they don’t need to pay taxes




b.
so congress had to respond to that


D.
so, the rules


1.
if land goes up in value, but you don’t sell it




a.
not a realization event, no taxes



2.
getting annual rent payments



a.
taxed - § 61(a)(5)



b.
do you say that was a dumb thing to do?





i.
no – its better to make 10,000 taxed than 0 untaxed





ii.
remember that taxes are not everything





iii.
realization rule doesn’t change everything, just the 

rates of return




c.
and note it might be worth less if he sells it with a lease



3.
if property owner permits lessee to construct a building on the 
property, right to pass to prop. owner on termination of the lease



a.
taxed when its completed, when her gets rights, or when he 

sells?




i.
he prefers the latest date of course, time value of 

money





ii.
government or course wants to earliest date




b.
the answer is it is taxed when he sells the property





i.
you have 61(a)(3) and 1001





ii.
Hort case – possibility of income is not a taxable 

event





-
so if the Wall Street Journal says Bill Gates 

is feeling generous and thinking about declaring a dividend, that is not a realization event, it is just a possibility





iii.
so it is realized when it vests





iv.
but congress got generous, and enacted § 109 – says 
it is not a realization event until the landlord disposes of the property, even if he has an absolute right to it earlier than that




c.
you could say it is when he gets the rights – dominion and 

control, but that is not correct



4.
go back to the rent for a minute




a.
if you buy an orange, you don’t have income, you are in the 

same position as before, you just changed the form of an asset

b.
the argument in Hort was that you have the right to make 

up the amount you paid for the property, and any scrap above that
c.
but really, you bought the underlying asset, the land, and 

you are making an income stream from it




d.
so Hart means you don’t take costs into account when 

calculating income





i.
you deduct them later



5.
property owner sells the right to ski in perpetuity for a lump sum



a.
well, if you sever the prop, you can divide up your basis to 

calculate loss/gain



b.
Hort says you can’t divide up your cost when looking at an 
income stream, but you can when you sell




i.
but selling skiing rights is not selling of prop not 
renting, it is in between



c.
well, if you say it is like an easement, your basis is reduced





i.
but you can sell many easements




ii.
so the answer for an easement is that the basis is 
reduced by the amount of the easement, because you recouped that much of your investment




d.
so there is the income stream, the selling of property, and 

the easement – which one is this?

i.
his attorney wants to say it is an easement



e.
a lump sum every 10 years is an income stream




f.
basic principles





i.
selling property is a realization, taxed on 

gains/losses





ii.
income stream for one year or multiple years at a 

time is taxable with no offset – Hort and 61

-
anything limited by years in an income 
stream





iii.
selling off a severable portion is a realization event





iv.
if you sell an easement, something that affects all 
the property in perpetuity, that comes out of the basis and you report it later – Inaja Land Co. v. Commissioner



g.
so imagine the value goes down




i.
you can deduct those losses, which saves you taxes





ii.
so if you sell and buy it right back, the government 

will see what is going on and disallow the deduction
-
that is Cottage Savings





iii.
but if you sell for ten years and buy back – this is 

just like renting it, that is an income stream





iv.
of course, time value of money, you want your tax 
losses now, and your tax gains later


E.
Cesarini and treasure trove rules


1.
homeowner finds thousands of tulip bulbs in her yard




a.
note that the exam will ask government argument and 

taxpayer argument




b.
government says it is income and is realized when found 

(or, even better, when the land or piano was purchased, which was before the treasure was even found)




i.
accretion to wealth





ii.
realized when found





iii.
has dominion and control, can use now





iv.
treasure trove – reg 1.61-14 - [Law French "treasure 
found"] Valuables (usu. gold or silver) found hidden in the ground or other private place, the owner of which is unknown – At common law in the United States, the finder of a treasure trove can usu. claim good title against all except the true owner. But until 1996, all treasure trove found in the United Kingdom belonged to the Crown – is income in the year in which it is reduced to undisputed possession




v.
Cesarini – cash found in a piano - also says it is 
income in the year found, not the year piano was purchased, not when piano sold, not included in the price




c.
note that treasure trove is an example of something not 

listed in § 61 but is income





i.
so almost any accretion to wealth is income, unless 

excluded by statute, or if it doesn’t fit the idea of income

d.
taxpayer says either it is realized when sold, or was 
included in the purchase price of the land

i.
a bargain purchase is not taxed


-
but would be if bargain part is compensation

ii.
so here, you say you just got a bargain purchase

-
but I.R.S. cannot do that with cash because 

if cash is not taxed when found, it will never be taxed, never a taxable event other than when cash is found




iii.
so can we say something other than cash, such as 

tulips in the yard, is part of a bargain purchase?

-
concerns about liquidity

-
hard to value

-
plausible to say the tulips were included in 
the price (but not with cash in a piano)

-
tulips could be taxed when sold, as opposed 

to cash




iv.
well, if she is going to be taxed at all, she wants to 

be taxed when the bulbs or the land is sold, time value of money





v.
note – concept of severability – the bulbs are less 
severable than the cash



e.
if they were not included in income, and some die





i.
no gain no loss





ii.
or if you say they were included in the house price, 

you try to say you have taxable loss



2.
now, gold nuggets are found in a stream in the backyard



a.
government




i.
these are easier to value





ii.
this couldn’t have been bought with the property – 

not expected




iii.
the difference between this and the tulips – if you 
buy land expecting to find oil, you say you’ll pay tax when you sell the oil





iv.
government says you are better off than before, as 
soon as you found the nuggets





v.
government says it is like an income stream





vi.
again, it is clear you will be taxed no matter what – 

either:





-
when found






-
when sell nuggets






-
when sell property with nuggets




b.
if you give them to charity





i.
and try to take a deduction





ii.
it is income, when it might not otherwise be





iii.
Haverly v. United States





iv.
so you can’t take a deduction for something that 

was never included in income



c.
if taxpayer put the nugs under he pillow




i.
means she is doing nothing with them





ii.
so she says she didn’t become better off – she 

should only be taxed when they are sold





iii.
government says it doesn’t matter if they are under 

your pillow, you are better off than before, tax when found



3.
the nuggets go down in value, are expected to go back up, taxpayer 

wants to exchange them with another taxpayer to realize the loss
z.
she included them in gross income in the year found, so the 
only issue is when the declare the loss

a.
well, with losses the taxpayer wants those earlier, the 

government wants them later



b.
if you sell for a loss, it’s done





i.
taxpayer has much more control




c.
but without a sale

i.
government says no consequence because no sale or disposition




ii.
taxpayer – no, she swapped them




iii.
government says no, they were swapped for 
something not exactly identical, but no material difference




iv.
see Cottage Savings – it’s a realization event only if 

the exchanged properties are materially different




d.
if two people exchange two shares of GM stock, no loss, 

they are exactly the same
i.
if you only exchange for tax loss, you lose

ii.
you need other reasons




e.
well, if they are materially different – legally distinct 

entitlements – there is realization
i.
such as if the laws of different states apply (cottage 

savings)

ii.
or the nuggets are not exactly the same




f.
policy – 





i.
government didn’t want to push too hard and say 
realization is only when there are huge differences, because then gains can be pushed back




g.
aftermath




i.
after cottage savings, government issued regulations 

under 101 for swapping financial instruments





ii.
was concerned that you would only need one tiny 

difference to realize a loss, because wall street would figure out how to do that very easily





iii.
for us – a swap is generally a realization event, as 
long as there is some difference in legal rights, or some difference



h.
same as the bulbs – if they were not included in income in 

the first place, loss is not deductible

i.
but if they were included in income or house price, 

you try to deduct the losses



i.
don’t worry about inflation for now
6.
ANNUITIES AND LIFE INSURANCE

A.
option between an annuity or a bank account – both yield the same return


1.
she said don’t worry what an annuity is – we will be told




a.
the idea is that you put in a lump sum, which gets you a 

fixed return each year, including something extra for interest



2.
anyway – in a non-tax world you are indifferent other than that the 

bank account provides you with more flexibility

a.
some differences in risk – but we should assume the same 

risk



3.
okay, now assume taxpayer puts in 7 and gets 1 a year over 10 

years
a.
he gains 3 in total, but it is taxed differently on each


4.
without a specific code provision, you would think that you don’t 

have income till you collect something above your investment of 7



a.
government says what you are collecting at first is your 

gain, and at the end you are collecting you principal




b.
congress chose neither




i.
for the annuity – the 1000 in year one is part profit 

part principal




ii.
you have to figure out the proportion





iii.
§ 72 tells us to do this





iv.
here, total investment over total return is the 

exclusion ration – so 7/10 = 70% (here)





v.
so you exclude 70%, and get taxed on 30%




c.
compare that to the bank account




i.
if we get the same answer, taxpayer continues to be 

indifferent




ii.
you are taxed on whatever interest you make each 

year



d.
compare to annuity





i.
annuity payments are fixed





ii.
but with the bank account – you have less principal, 

so you are making more interest and paying more taxes up front, time value of money





-
which leaves you with less money in total





iii.
so the annuity is better, although you would expect 

the market to even things out somewhat



5.
so why did congress do this?



a.
maybe they didn’t know what they were doing



b.
maybe they wanted to encourage investment in annuities




c.
incentive for life insurance and pensions




d.
Schenk thinks it was simply an accident – they didn’t know 

what they were doing



6.
efficiency effects



a.
encourages people to invest in a way that may not be 

optimal for them



b.
people might have been indifferent – now they aren’t




c.
what do you expect to happen?




i.
people advertise tax benefits





ii.
market adjusts:






-
annuities can drop rates






-
banks forced to raise rates



7.
it looks inequitable



a.
people earning the same profits are taxed differently




b.
how to fix?





i.
any of the original approaches?





ii.
treat the annuity like a bank account – which is 
what the insurance industry does





-
the interest is more up front, and less at the 

end, as the principal decreases




iii.
(notice how time value of money can make money 

later worth less today)




c.
well, why didn’t congress do that?





i.
simplicity




ii.
but we could figure it out – the insurance industry 

has figured out what the interest rate is already





iii.
but the change would be opposed because it takes 
away the tax advantage and creates administrative hurdles


B.
annuities vs. life insurance



1.
elderly woman wants to benefit her heirs



a.
she has two options:





i.
7 in an annuity for 1 per year for rest of life, 10 

years is her remaining life expectancy, she will put the money in a bank account for 7% interest





ii.
or, 7 in life insurance for 13,864 at death to 

beneficiary, which is 7 at 7% for 10 years




b.
so which is better?





i.
well, this annuity is a little different from the 

previous one – 






-
it is 1,000 for rest of her life, it isn’t limited 

by a number of years






-
so she could earn more than expected by 

living longer than expected





ii.
if she lives exactly 10 years, they are the same




iii.
if she lives less than 10 years – the life insurance is 

better

-
same return if she dies in 1 year



2.
introduce taxes




a.
annuity





i.
300 income each year





ii.
if she only lives 5 years – 





-
she made less than her investment






-
congress doesn’t want to go back and amend 
things






-
but she gets a deduction in the amount she 
didn’t recover - § 72(b)(3)





iii.
but starting with year 11 – it is all income – 100%




iv.
so the annuity is a gamble – 






-
you win by outliving the expectation






-
you get more than your expected return






-
die early and you get less




b.
life insurance





i.
her son gets 13,864 – no matter what




ii.
so this is also a gamble






-
she wins if she dies early – you still get the 

full amount





iii.
§ 101 – life insurance proceeds are exempt from tax



c.
so – with taxes which is better




i.
life insurance is better up until year 10 because you 

get the same return as if it was 10 years, and it is untaxed





ii.
but in year 11 and afterward – the annuity is better 

because you are making pure profit



3.
why did congress do this?




a.
death is a terrible thing





i.
you want to help the people left behind




b.
what do you expect to happen with life insurance?




i.
market reacts – return goes down




c.
who doesn’t care for the life insurance?





i.
if there is no one you want to leave the money to





ii.
someone to whom the deduction is worthless






-
like tax exempt people or orgs





iii.
people who can invest at a higher rate or who have 
enough deductions already




iv.
poor people who don’t pay much taxes, or none






-
and that is exactly who buys these things






-
they have a lower rate of return because of 

the tax exemption






-
but poor people should buy taxed 

investments with higher rates of return because poor people won’t have to pay much if any tax

UNIT V – DEBT AND LOANS

6.5.
INTRO


A.
there is the debtor and the lender



1.
for now we will talk about the treatment of the principal for the 

debtor


B.
this is not about interest



1.
not much to say about it – it is fully includable as income – see § 

61(a)(4)



2.
although it can be hard to distinguish from the principal, and also 

timing issues – we will cover this all later

C.
anyway, the rules are clear, but figuring things out can be hard

7.
TRANSACTIONS INVOLVING BORROWED FUNDS


A.
ILLEGAL INCOME



1.
Collins v. Commissioner




a.
embezzlement – the defendant printed up track tickets for 
himself, and even though they lost, he had income in the amount of the tickets he did not pay for




b.
so his income was fair market value of the tickets




c.
but they did let him offset what he paid back



2.
what makes a loan not income is the consensual recognition of the 

obligation to repay




a.
so a unilateral intention to pay back doesn’t count – needs 

to be bilateral




b.
it’s the consensual recognition of the debt that makes a loan 

different from embezzlement – where he never intends to pay it back




c.
and a unilateral intention to pay back doesn’t do it – needs 

to be consensual recognition – lender needs to give permission, which wasn’t present in Collins




d.
Gilbert v. Commissioner


B.
DISCHARGE OF INDEBTEDNESS



1.
guy takes a loan, can’t pay it all back, so bank takes a fraction of 

the original amount and forgives the rest
a.
the original loan is not income


i.
no exclusion section in the code, but it is not an 

accession to wealth


ii.
if you look at § 61 – examples - income is always 

accession to wealth





iii.
so you don’t need an exclusion section because this 

doesn’t fit the idea of income – he will have to pay it back





iv.
think of things as a balance sheet – 





-
he got 400 cash






-
but also added 400 liabilities






-
so you don’t have income unless you 

increase your net worth





v.
the label is not dispositive, though



b.
so then the bank lets him pay 100 instead of the 400 he 
borrowed
i.
his liabilities went down 400, but cash only went 
down 100, so he is up 300, he has 300 income




ii.
an alternate approach which United States Supreme 
Court rejected early on would be to have him report the 400 gained and then deduct what he pays back






-
time value of money





-
statute of limitation issues (3 years)





iii.
note - § 108 – if insolvent, not income from 

discharge of indebtedness





iv.
but generally, discharge of indebtedness is inclable 
in income for the year of discharge





v.
this is beneficial to taxpayers





-
if you won’t pay it back






-
you have the income, the use of the money, 

for all these years and you don’t get taxed on it for all that time





vi.
§ 61(a)(12) – discharge of indebtedness is income




c.
so, if discharge of indebtedness is through bankruptcy, it is 

not income
i.
§ 108

ii.
maybe just to be nice – he can’t pay his debts, so he 

can’t pay his taxes


-
for example, his assets are zero, his 

liabilities are some number, and you are just adding more to it
iii.
this is very pro-taxpayer
iv.
absolutely wrong from a theoretical standpoint


-
equity problems – one person enjoys all this 

consumption and has to pay it back, the next person doesn’t






-
you can see it as a net worth issue





-
there is an old case on point – saying that it 

is basically “paper losses,” but there is clearly value in not having debt



2.
so now assume he takes a loan, 400, makes 480 from gambling




a.
you have to see it as two separate transactions




i.
the loan and the gambling




b.
the loan took his net worth down 400, so he pays that back 

to get back to even, so that is not income




c.
the 80 he made above the loan is income



2a.
assume he loses some



a.
§ 165(d) – you can offset gambling losses against gambling 

winnings




b.
I assume this is per year



c.
so, if you make 100 and lose 50, you only have to declare 

50 income, or deduct 50 out of 100, same result




d.
and if you make 100 and lose 100, you can deduct all




e.
but you cannot offset below zero




i.
so if you go to the casino with lots of money, and 
make 100 but lose 200, you can only deduct 100



f.
an odd provision




i.
loss is loss





ii.
you can deduct all losses on stocks




g.
why can’t you deduct gambling losses that exceed 

winnings?




i.
one argument is that the government is subsidizing 
gambling (you lose and they pay you half back in a sense)




ii.
the winners get taxed – so to do it correctly – you 
would tax wins and losses – government would be a partner in every bet you make




iii.
but the realistic reason is probably to deter 
gambling – like a sin tax – instead of taxing you just for walking in there – we do this




iv.
and, Schenk thinks – administrability problems





-
if you win at the track – you pick up losing 

tickets off the ground to offset your wins






-
but if you could go below zero, people 

would be selling losing tickets because they would have value as tax savings, at your tax rate times the loss






-
they would have no more value at the track, 
but they would have value in the tax system – a market would develop





-
it’s just too hard to police






-
so you can zero your winning, but not go 
below that



3.
so now we combine it all – he gets 400 credit from a casino, pays 

back 80
a.
Zarin – 

i.
the third circuit said that it wasn’t discharge of 
indebtedness income because the debt was not enforceable under the relevant NJ law





ii.
government says look at § 108 – this is discharge of 

indebtedness income




iii.
Zarin says that you need debt for that to apply, and 
this is not debt under relevant NJ law





iv.
but if he got 400 assets and zero liabilities, it should 
be income when received, in that case

-
if he wins, winnings are taxable





v.
there is also the disputed debt theory






-
which says that if there is a dispute about the 

debt – the entire debt is what the parties agree it to be




vi.
but the thing is – he got the enjoy the consumption





vii.
so either way, he really got away with something






-
got to enjoy gambling millions, and didn’t 

have to pay it back






-
and won his battle with the I.R.S.




b.
the tax court, below, had ruled for the government




i.
Judge Tannenwald was concerned that you could 
just gamble more and more, lose more and more, and borrow more and more, and then you would just owe more and more taxes on the money you didn’t have
-
so you can’t pay back your debt, nor your taxes

-
which is really an argument against the 
asymmetrical taxation system that doesn’t allow you to deduct gambling losses




c.
more arguments that it is income

i.
he could have had his legs broken for this




ii.
if it was unenforceable, why would they give him 

anything?

-
if it was a gift, he never would have repaid 
anything at all

-
so repaying part of it was acknowledging 
that he had debt

-
Schenk finds it hard to accept an argument 
that it was not debt at all in the first place in light of the fact that he negotiated and repaid part of it





iii.
so it was discharged






-
and even if state law didn’t consider it 

enforceable, under tax law it should be income




d.
so, why did the casino extend him this money in the first 

place?

i.
he was a huge, terrible gambler – he just gave all 

the money right back

-
lending him that money did not actually cost 

the casino anything





ii.
it’s different if the lender is a bank, because they 

would not have kept loaning all this money, because they might not get it paid back





iii.
and the money the casino lent him – was only for 

gambling






-
bank money could be spent on anything





iv.
so that is why you had a difference in result



e.
but to Schenk, who is so into theory and normative shat




i.
it was discharge of debt





ii.
and even if you accept that it was not debt under 

state law, it was income when he received the chips





iii.
so either way, he had income



4.
now, assume he steals 400, gambles and loses 320, and pays back 

80




a.
she would just ask what result on the exam, it’s important 

that we take it apart – it is three separate things – theft, gambling, restitution




b.
theft





i.
is income of 400 – the full amount





ii.
see Collins v. Commissioner





iii.
basically – he didn’t intend to pay it back





iv.
and even a unilateral intention to pay it back will 
not make it a loan





v.
nor would a legal obligation to pay it back make it a 
loan





vi.
need consent of both parties




vii.
can think of it as gaining 400 assets, and no 

liabilities = 400 income




c.
suppose he stole chips not cash




i.
with no value outside of the casino






-
can't spend it at the corner store





ii.
but you can gamble their dollar value





iii.
and you can exchange them for cash at the window 

or with a person





iv.
so that is still 400 income




d.
gambling losses




i.
well, no gambling winnings to offset





ii.
and you can’t deduct gambling losses





iii.
so the gambling losses here have no effect




iv.
theft is not gambling, can’t offset that 400 with the 

320 lost




e.
restitution




i.
he pays back 80




ii.
he gets to deduct 80





iii.
so essentially he stole 400, paid back 80, got 320





iv.
if he says he’s getting taxed on 320, when he doesn 

have 320
-
reply is that he had 400, he chose to throw it 

away, when he could have done anything with it





v.
also notice that this can be happening in different 

years





-
so he might get taxed on the full 400 one 

year






-
and then get to deduct 80 the next






-
so it comes out to 320 in the end






-
although with time value of money, he isn’t 

made whole because he had gains before losses


5.
what if casino has an agreement which gamblers sign, and it says 

gambler purchases chips, which are property, and casino can later reduce the value



a.
this is the so-called lemon provision - § 108(b)(5)





i.
idea was that if you bought a car for 10, you got 

assets of 10 and liabilities of 10





ii.
but if it turns out to be a lemon, they reduce the 

price to 4, you made 6





iii.
but lemon provision reduces the basis to 4 also, so 

you don’t have income




b.
so that is what the casinos are trying to do here




i.
this was argued, and the court said it would not 

accept that the chips were property – more like cash or whatever, capital





ii.
here, though, both parties have agreed, and signed 

an agreement – different result?

UNIT VI – tax-exempt bonds, tax expenditure theory, horizontal equity, market reaction to tax preferences
I – Intro

5.
The Tax Expenditure Budget


A.
it is a long list of numbers



1.
it is things they are not taxing



2.
they end up with a number in the end




a.
some billions of dollars




b.
they do it to show what the government can be considered 

to be “spending” on income that it is not taxing


B.
it is NOT things that are not considered income in the first place


1.
it is things that ARE considered income, but congress has decided 
not to tax




a.
for example, if everyone is taxed according to height, but 
Michael Jordan is not taxed, that is a height tax expenditure



b.
or if wealth is taxed, but cars are not, that is a wealth tax 

expenditure


2.
so in our income tax system



a.
§ 101 exempts life insurance proceeds

i.
which is something that would be taxed except 

congress excluded it





ii.
it’s an accretion to wealth, but you are not taxed




iii.
it’s tax revenue that congress has decided to forgo





iv.
this is a tax expenditure




b.
same with gifts





i.
accretion to wealth but you are not taxed





ii.
tax expenditure




c.
taxing salary, dividends and rent is normative




i.
they are accretion to wealth




d.
what about the realization rule





i.
wealth goes up in value but it is not taxed





ii.
economists and academics say this is a tax 

expenditure, but it isn’t in the tax expenditure budget





iii.
they say it’s a rule of administrative convenience


C.
now let us look at some examples


1.
note




a.
it is easy to see what they are directly spending money on




b.
but harder to see when it is a tax exemption




c.
but a useful way of looking at things



d.
tax subsidies really drive everything in this country – so it 

is important to understand



2.
imagine a guy makes 100 dollars – 30% bracket



a.
we want him to have 10 dollars of cheese provided by the 

government




b.
we have options on how to handle it:




c.
give $15 for cheese, minus tax = 10.5





i.
in the direct budget, we gave 15, took back 5, so he 

got 10




d.
or – an exclusion





i.
we let him exclude $32 of income if spent on cheese





ii.
the tax he save by excluding that at 30% is about 
$10





iii.
so in our tax expenditure budget we put 10 for 

cheese






-
10 less revenue we are getting from taxes 

because we want people to get cheese





iv.
economically it is the same as above




e.
or a deduction for $32



f.
or we just hand hi $10 worth of cheese



3.
anyway, the point is that we should understand tax expenditures 

are just like direct spending
a.
so why would you choose one or the other?
b.
well, low income taxpayers don’t get the benefit of tax 

subsidies, although the tax system can be used to give them a refund even if they don’t need to file taxes in the first place


i.
but with a direct subsidy they can just walk up to 

the office and get it

c.
tax exempt organizations

i.
can’t take advantage of tax subsidies


ii.
although not being taxed in the first place is a form 

of subsidy




d.
somebody who already has so many deduction that any 

subsidies or exemptions are meaningless



e.
foreign anything




i.
don’t pay taxes





ii.
if we want to benefit them – would need to be direct



4.
note that the value of a tax subsidy is not uniform because not 

everyone pays taxes at the same rate


5.
note that tax expenditures are less visible than direct spending, so 

they are easier to get passed



a.
until recently we didn’t even have a tax expenditure budget 

at all



b.
and direct spending is exact - fixed




i.
but tax expenditures are not fixed because you don’t 

know how many people will use a subsidy





ii.
no way to cap it





iii.
so the tax expenditure budget is a guess





iv.
also depends on people’s rates




c.
so the tax expenditure budget is made up, we can hide 

things there
i.
if something is popular, we use direct

ii.
if controversial, use a tax expenditure




d.
and also, because direct spending is fixed, spending on one 

things means spending less on another




i.
but the tax expenditure budget, there is no fixed, 

zeroing out





ii.
just a list, no cap





iii.
so there is never a direct comparison between items




e.
and tax expenditures don’t sunset




i.
but direct stuff has to be renewed every year





ii.
tax expenditures are in there unless repealed





iii.
but they never are – it would look bad to say we 

want to take away this aid





iv.
some tax stuff does sunset, but it always gets 

renewed



f.
and also – administration issues




i.
if it is a direct subsidy – you need an agency to do 

all sorts of crap






-
like administer giving out cheese or cash





ii.
vs. a tax expenditure






-
less administration issues






-
although the I.R.S. does have some work to 

do




g.
something that can only be a tax expenditure:




i.
religion – government can’t directly spend money 

on that




h.
people like tax expenditures because they think the people 

get to decide




i.
like with charities






-
the government could just donate itself






-
but with a tax expenditure the people get to 

decide which charities get money and how much






-
and then money can go to places the 

government might not choose itself – like liberal orgs like the ACLU




i.
and secondary beneficiaries




i.
the guy who saves on cheese is the primary 
beneficiary




ii.
the cheese industry is a secondary beneficiary






-
price can go up because people don’t have to 

pay as much of their income





-
more people are buying cheese




iii.
and – wine stores, cheese stores, cheese workers, 

dairy farmers



6.
everything in the tax expenditure budget is something not in the 

direct budget

a.
so to raise revenue we could increase taxes or drop things 

out of the tax expenditure budget




i.
which is something that happens




ii.
they look over the list and look for things that will 

cause the least trouble




b.
but if something is not income in the first place – it is not 

on the tax expenditure budget, or shouldn’t be



c.
varies in value depending on the beneficiary – 




i.
which is never true to for direct spending





ii.
and if you are in a higher rate bracket, you save 

more






-
that is why they are frequently called 

upside-down subsidies






-
richer people get more benefit



7.
a credit is another possibility



a.
dollar for dollar for the tax payer on the end total of taxes 

owed



b.
but this is more rare because it is harder to hide


D.
are tax expenditures efficient or equitable?


1.
they don’t appear to be equitable because of how people get 

different benefits depending on their rate


2.
nor are they efficient



a.
you assume congress has reasons




b.
but they are not efficient if congress gives up more than the 

benefits people receive

II. WHAT IS INCOME?
10.
TAX-EXEMPT INTEREST


A.
§ 103(a) says that interest from state and local bonds is exempt from gross 

income

B.
so let’s compare a corporate bond and a municipal bond


1.
assume the rate of return is 10%



a.
but if one is taxed at 28%, return drops to 7.5%




b.
the other is still paying you 10%



2.
so then the city can drop its rate down to 7.2%




a.
and you are indifferent again


C.
from the government’s perspective:



1.
the city is getting a benefit



a.
the federal government is forgoing taxes so that the local 

government can drop it’s rate




b.
if it was a direct subsidy we could just give the same 

amount of cash to the city



2.
so for the tax expenditure budget, we list 28 for each bond



3.
but not everyone pays the same rate




a.
Bill Gates pays 35% taxes




i.
that drops the corporate bond to 6.5%





ii.
so the city bond is better to him at 7.2%





iii.
in this case, the federal government lost 35 when he 

bought the city bond





iv.
but the city only gained 28





v.
where is the extra 7?






-
it is dead weight loss – inefficiency






-
Gates got it





vi.
the city only needed to pay out 6.1 to get his 

investment, but they are paying 7.2, so he is making that much more




b.
compare to the 15% elderly retiree





i.
the corporate bond goes from 10 to 8.5% with taxes





ii.
the muni stays at 7.2%




iii.
so the muni would need to raise to 8.5% to get 

people like her
-
but you shot yourself in the foot if you raise 
you muni bond to 8.5% but other people who pay higher taxes buy most of the bonds






-
and everyone else will buy it






-
and why not just sell it at 8.5%? – because 

you are giving out a lot more money that at a lower rate





iv.
so if you are the city – you have to balance all these 

different variables, and try to find the lowest possible number at which your bond will still sell





-
you want to sell them all





-
8.5 is paying out a lot





-
but 6.5 means a lot of people won’t buy it



4.
muni pricing quandary




a.
if we price at 6.5%





i.
you might not sell them all





ii.
gets buys them, muni saves lots, just like a direct 

subsidy




b.
at 7.2%





i.
Gates gets a benefit





ii.
but you need the rate a little higher or you won’t 

sell them all





iii.
it’s inequitable – Bill Gates got a tax windfall


5.
the market can’t take into account the different tax rates




a.
not all buyers are the same and the city doesn’t know who 
will buy



6.
and note – the corporation will have to raise its rates




a.
they will try to reach equilibrium




b.
but they can’t because there are different purchasers with 

different rates

i.
and you don’t know ahead of time exactly who will 
be buying

D.
also note that the muni bond is only tax exempt if it is used to fund city 
benefits
UNIT VII – DEDUCTIONS

III. DEDUCTIONS AND CREDITS

0.
INTRO


A.
remember income is consumption plus change in wealth!!


1.
which can be hard so we tend to look at receipts



2.
but if you spend income to produce dollars, it in not income




a.
for example – if you spend 10 to get 12, you have 12 net 

income but not 12 taxable income


B.
receipts – exclusions = gross income – deductions = taxable income



1.
now we will focus on the deductions



2.
money that goes into gross income, but we take out later



3.
ignore change in wealth for now, other than the realization rule


C.
we do want to tax consumption



1.
like if you spend 10 on an apple – 




a.
you can’t deduct that 10



2.
but if you spend 10 to make 12, you can deduct 10



3.
but it can get complicated

D.
we’ll start by focusing on deductions for businesses


1.
which can get complicated



2.
corporations can be considered “people,” but we will presume they 

are businesses

1.
BUSINESS EXPENSES


Z.
§ 162 is the main provision – can deduct “all the ordinary and necessary 
expenses paid or incurred during the taxable year in carrying on nay trade or business” (3 parts)
1.
must be for a trade or business

2.
for carrying on that trade or business

3.
ordinary and necessary to the trade or business


a.
Welch v. Helvering



i.
paying debts of another even if it is to maintain 
business reputation is not ordinary expense – not deductible



ii.
must be common of frequent occurrence in the type 
of business involved


iii.
if payments are made to protect the taxpayer’s own 
business, then they are deductible





iv.
necessary because they were appropriate and 
helpful to the continuation of his business, his payments of another's debts with no legal obligation to do so were not ordinary because they were not the common and accepted means of heightening his reputation for generosity and opulence



b.
why do we even have the ordinary and necessary 

restriction?





i.
why not say everything a business spends is 

deductible?





ii.
because a corporation may be paying out money 

that is not salary (which is deductible), but it actually for consumption

-
this is not a huge worry with a public 

corporation

-
but more with closely held corporations





iii.
a close corporation could:





-
give money to someone and try to make it 

look like compensation, when it is actually for consumption






-
or spend money and try to make it look like 

a business expense, when it is really for consumption





iv.
we like to tax corporations and shareholders twice






-
simply a decision that was made





v.
not everything is incorporated





-
a person could be a business also






-
that person would be tempted to say 

everything spent is for the business






-
that’s hard for a subway conductor to say – 

but easy for an actor, writer, musician




vi.
so we try to distinguish consumption from business 

expenses




c.
necessary:





i.
does not mean essential, or required, like it is 

necessary to drink water





ii.
it means appropriate or helpful to this trade or 

business






-
so it could be necessary to one business and 

not another






-
depends what your business is






-
facts and circumstances test for each 

business




d.
ordinary is common recurring





i.
some overlap with necessary





ii.
but it doesn’t mean it happens all the time in your 

trade or business

-
otherwise you would always have to tax the 

first




iii.
it means you would expect it to occur over time



e.
legal expenses





i.
United States v. Gilmore – it depends on what the 

charges arose out of






-
divorce is not connected to a trade or 

business, so not deductible






-
defending patent infringement, plagiarism, 

contracts, landlord/tenant is all business






-
harder for individuals – I.R.S. will say it is 

personal




ii.
Dancer – legal expenses from car accident






-
promotion is part of his business






-
driving a car was part of taxpayer’s 

business, accidents are part of driving





iii.
Gilliam – artist






-
travel not part of his business






-
freaking out on airplane was not ordinary 
part of being an artist or traveling





iv.
Tellier






-
defending yourself for doing something 

illegal is deductible as long as the conduct was in connection with a trade or business






-
doesn’t matter if your trade or business is 

illegal!!

Y.
examples


1.
guy discussing his book on TV slugs show host – needs to pay 

lawyer to defend himself



a.
government:

i.
will say it is not a trade or business – but personal




ii.
is it ordinary and necessary?






-
no – it might be helpful to producing income






-
and it might be necessary to his personal 

liberty – but not to producing income






-
and it is not something that is commonly 

done






-
it would seem – it is not directly related to 

business enough





iii.
points to Gilmore, says the assault is a person 

action, not having to do with trade or business




b.
his lawyer argues:





i.
the punch was to create publicity, needed a lawyer 

to carry it to conclusion, it was all about making money selling more books






-
court might buy it



2.
salaries




a.
perfect example of what is deductible



3.
gifts, bribes, kickbacks




a.
gifts not deductible – § 162(b)




b.
bribes, kickbacks not deductible - § 162(c)



4.
fines paid for breaking the law




a.
not deductible under § 162(f)



5.
policy for no deductions for illegal stuff:

a.
we want to frown on illegal conduct




b.
and if we let people deduct for that stuff, government will 

be collecting less money




i.
for example – in a 50% bracket, a $50 fine would 

result in government only getting $25 if the fine was deductible




c.
but this is not normative





i.
paying fines is often clearly part of producing 

income




d.
if the federal government did let people deduct fines, then 
local govs could and would increase the amount of the fine





i.
of course, it wouldn’t work perfectly, as we saw 

before and now know





ii.
because people in lower tax brackets would be 

paying a higher fine because they could not deduct as much





iii.
and somebody in a higher tax bracket would be less 
deterred because would be paying less than the fine was originally intended to be




iv.
and people who are tax exempt would be fined the 

full amount





v.
and issues between local and federal govs





vi.
probably none of this was considered – they just 

didn’t want to subsidize this kind of stuff




e.
and you would need to differentiate between personal and 

business expenses



6.
attorney’s fees for defending youself for doing something illegal 

that arose out of trade or business



a.
deductible – Tellier




b.
doesn’t matter if your trade or business is illegal



7.
drugs



a.
§ 280E – no deductions for anything in connection with 

drugs




b.
a nutty section, just to make congress feel good





i.
people would not be reporting income from drugs 

anyway




c.
flies in the face of everything the United States Supreme 

Court said in Tellier




d.
why drugs, not gambling or prostitution?




e.
clear tax penalty



8.
lobbying - § 162(e)



a.
notice that everything after § 162(a) is a carve out of things 
that would otherwise be deductible under § 162(a)



b.
you can deduct for lobbying of local legislators, not 

national or state



c.
tax penalty




d.
why do this?





i.
to discourage lobbying?



9.
lobbying via newspaper – 162(e)




a.
not deductible




b.
but you get around it by not referring to the specific 

legislation – just talk about the issues – everyone knows what you mean




c.
but individuals can never deduct for this stuff – can’t be for 

trade or business is you don’t have a trade or business


X.
policy



1.
any time you allow a deduction, the activity becomes less 

expensive (as long as the person has taxable income to offset with the deduction)




a.
for instance, if you spend 600, but deduct 50%, you got 300 

back


2.
tax penalties




a.
things government makes you include as income that 

should not be
i.
and deductions that are not allowed that should be




b.
not a lot examples of tax penalties




c.
every deduction is either normative, tax expenditure, or tax 
penalty



3.
example



a.
salary deduction – normative





i.
deducting the costs of producing income are 

necessary to distinguishing income from receipts




b.
no deduction for a bribe




i.
penalty is necessary to your business




c.
no deduction for fines





i.
also a penalty if necessary to business

A.
REASONABLE ALLOWANCE FOR SALARIES



1.
Exacto Spring Corporation – 2nd and 7th Circuits (Illinois, 
Indiana, Wisconsin, New York, Conn, Vermont)



a.
salaries must be reasonable: If co’s earnings on equity, 
when viewed in relation to such factors as the co’s overall performance and levels of compensation remain at a level that would satisfy an indep investor, there is strong indication that management is providing compensable services and that profits are not being siphoned out of the co disguised as salary



b.
or 7 factor test:

(1) type and extent of services rendered

(2) scarcity of qualified employees

(3) qualifications and prior earning capacity of the employee

(4) contributions of the employer to the bus venture

(5) net earnings of the employer

(6) prevailing compensation paid to employees w/comparable jobs

(7) peculiar characteristics – little shady



2.
what if someone is not doing anything



a.
you can say she is getting paid to not work for someone 

else



b.
or maybe it is a dividend – which is not deductible



3.
she’s also a shareholder




a.
so if they never pay dividends, you can say maybe a large 

salary is really a disguise for dividends

i.
that is unlikely for a public corporation



4.
maybe a large salary is a gift




a.
like if it is closely held and large amount of “salary’ to 12 

year old




b.
because if dad gives to kid, taxed at higher rate





i.
but if it goes directly to kid, lower




c.
so maybe the court says it is really a taxable gift, not 

deductible


5.
above is all the government should be worried about



6.
corporation probably will not be paying somebody for nothing, 
though




a.
especially a public corporation


7.
if you are the tax lawyer – the salary needs to be low enough or 

they need documentary evidence




a.
it matters whether or not the company is profitable



b.
we want to know if an independent board has certified it




i.
an issue for closely held corporations



8.
EXAM – she got pissed because no one answered about whether 

Chicago mattered/how it mattered

a.
it changes the test – see above


B.
EXPENSES CONTRARY TO PUBLIC POLICY



1.
see above


C.
LOBBYING EXPENSES



1.
see above

UNIT VIII – EMPLOYEE BUSINESS EXPENSES
III. DEDUCTIONS AND CREDITS

1.
BUSINESS EXPENSES


E.
EMPLOYEE BUSINESS EXPENSES - § 162


1.
money employee spends and wants to deduct



a.
must be ordinary and necessary for carrying on a trade or 

business




b.
above the line or itemized




c.
some itemized deductions are subject to limitation and are 

not deductible in full



2.
threshold issues



a.
you need to take the client out to lunch, because client will 

decide if you get the job, but your tummy enjoys the meal also





i.
so the problem is separating personal consumption 

from business




b.
and not all deductions are equal





i.
for most people, itemized deductions are not enough 

to be larger than the standard deduction, so all itemized deductions are essentially worthless




ii.
yet above the line deductions are more costly to the 

government because everyone can take them





iii.
if it is not listed in § 62 – then it is itemized




c.
anyway, the first thing is whether or not deductible, and 

then where it is applied



3.
some provisions




a.
§ 62(a)(1) – trade or business expenses (above the line)





i.
but not corporations or employees





ii.
this one is for unincorporated businesses, 

independent contractors, self-employed people




b.
§ 62(a)(2)(A) – employee trade or business expenses




i.
it is above the line if employer reimburses it




ii.
assumption is that if it was true business expenses – 

employer would reimburse


4.
§ 67 – 2% floor



a.
if it is not listed in § 67, and is itemized, then you can only 

itemize what is above 2% of you adjusted gross income





i.
for example, if you took out your exclusions, and 

had 100,000 agi, and spent 2,000, can’t deduct anything

-
if you spent 3,500, you could deduct 1,500




b.
this is nutty – clearly wrong




i.
if it is deductible, let the deduct it





ii.
most people won’t spend that much





iii.
this includes unreimbursed meals, uniform, union 

dues, tools




c.
why do this?





i.
maybe to limit deductions on stuff not reimbursed





ii.
maybe a way of raising more revenue – keep the 
same rate but have more that is being taxed in the base
-
here, you don’t have to raise the rate, and 
employee business expenses are still deductible, but there is a (high) floor





iii.
also, people were deducting things with a high 
consumption value – like newspapers, and people were even claiming they were buying the papers at the newsstand, but they were not actually buying them (hard kind of thing for I.R.S. to audit)


5.
employer will have 3 options if employer wants employee to have 

yellow pads




a.
3 options:





i.
buy the yellow pads and give





ii.
reimburse employee





iii.
increase salary for yellow pads




b.
buy and give





i.
fringe benefit under § 132




ii.
deductible if it would be if employee bought 

himself - § 162





iii.
this fits – it would be deductible




c.
if reimbursed




i.
also deductible




d.
increase salary




i.
not deductible


6.
so if you are a greedy associate




a.
you can get untaxed compensation if you can get employer 
to buy or reimburse you for things you would be buying anyway – such as bar dues

2.
PERSONAL VS. BUSINESS EXPENSES


Z.
child care credit - § 21, page 257


1.
it doesn’t work for everyone



a.
you need to owe taxes




b.
and you need to spend money on child care



c.
you must be working – getting salary income




d.
and notice that you get a credit for a percentage of what 
you spend, but it is capped – lower cap for higher income people


2.
policy



a.
is it normative – yes if it is a cost of producing income





i.
if it is normative – cost of producing income – 

should be available to everyone, which it isn’t




b.
non-normative/tax expenditure – it can be called 

consumption – some use money for theater, some for iPod, some have kids
i.
it is especially a tax expenditure if it is benefiting 

people who would pay for child care whether or not they worked





ii.
you could also call it a subsidy to benefit kids






-
or child care providers (who can raise prices, 
because people are not paying the full amount themselves)





iii.
to encourage people to enter the workforce?






-
you won’t enter the workforce if you can 
save more money than you would make by doing the child care yourself






-
but if the government reduces the cost of the 
child care to below what you would be making, now you enter the market






-
not to mention there is already incentive to 
not enter the workforce – need to go above a certain floor just to get people up off the couch





-
using one non-normative provision to offset 
another – best fix would be to tax imputed income





-
but this won’t work for people who earn 

very little – like people who work at McDonalds – small change by the credit won’t affect them






-
nor people without access to child care





-
nor people who just want to take care of 

their own kids






-
nor rich people – above a certain level there 
is no credit, and Bill Gates will be paying lots of money for child care, and his utility for being in the market is so high





-
nor people who do not pay taxes – but that 
could be solved with a refundable credit – so I.R.S. actually pays out money – but congress don’t like those – they are expensive – and they go to low income people who have no pull in Washington




iv.
to help employers who might be needing to pay for 

it themselves





v.
it would be an expenditure if it enables people to do 

something that is not normative – like get off early and play ball instead of getting your kid




vi.
strong argument that it is consumption:






-
we need to eat, sleep, etc. to work






-
why is childcare any different form those 

above that are not deductible?






-
in that sense it is an expenditure for all, 

penalty for none




c.
tax penalty – well, if it is a cost of producing income – you 
would not be a percentage, and it would not be capped
i.
cap and percentage is evidence it is not normative
ii.
it’s a penalty for those who need it but can’t offset 

all of the cost




d.
note that whether it is normative, tax expenditure, or tax 

penalty can depend on why it is in the code




i.
and on the person

Y.
clothes



1.
Pevsner v. Commissioner:



a.
it’s an objective test – is it adaptable for everyday use?





i.
if not, they would be haggling about personal and 

subjective things





ii.
hard to prove if it is actually worn or not




b.
three part test:





i.
is it of a type specifically required as a condition of 
employment?





ii.
not adaptable to general usage as ordinary clothing





iii.
it is not so worn



2.
why should anyone get a deduction?



a.
most people don’t




b.
we must attempt to carve personal consumption from 

business





i.
some clothes have very little personal consumption 

value – such as garbage coveralls, doctor’s scrubs





ii.
some people who are not doctors wear scrubs





iii.
but the above test is the I.R.S.’s attempt to handle 

this



3.
this is itemized and subject to the 2% floor!!



4.
policy:

a.
for who is the is tax expenditure?


i.
people who like what they wear and still get a 

deduction





ii.
but those subsidized are few – 2% floor



b.
for who is this a tax penalty?





i.
people who have to wear certain clothes for work, 

really don’t like them, but don’t get a deduction


5.
compare to education or dues for professional journals:




a.
journals are deductible but 2% rule




b.
education is not deductible if preparing for a new trade or 

business

i.
so law school is not

ii.
for some LLMs it is, if not preparing them for a new 

trade or business



6.
why not just say that it is deductible if employer reimburses for it?



a.
because many employers don’t care – would reimburse for 

lots



7.
in Pevsner, the court said that the clothes were adaptable to 

everyday use, even though she didn’t like them, so no deduction allowed


X.
TRAVEL AND ENTERTAINMENT GENERALLY



1.
it’s hard to administer – lots of abuse



a.
but not a big part of the tax revenue



2.
but it’s important to how people perceive things




a.
if you think your neighbor is getting away with something, 

you get bitter, you try to get away with it also



3.
travel and entertainment means:




a.
travel – transportation




b.
lodging




c.
meals




d.
entertainment



4.
statutory framework




a.
seems like generally, for employers – need 162 – all 

itemized but they have plenty of itemized stuff



b.
employees need 62, 162 and 262




c.
for travel and entertainment:





i.
162





ii.
needs to be ordinary and necessary






-
but that became a problem because lots of 

stuff is ordinary





iii.
162(a) has rules






-
274 – additional rules






-
congress is constantly tinkering



5.
it is all hard because a high consumption element for travel and 

entertainment

a.
although some is cost of producing income, and should be 

deductible




b.
example – if we go to DC to see the Smithsonian, nothing 
is deductible, it’s pure consumption


A.
TRAVEL EXPENSES



1.
commuting from home to work is strictly NOT deductible – reg § 
1.162-2(e)
a.
but you can’t go to work and make income without 

commuting





i.
and you have less income because you need to pay 

for your commute



b.
but if we took these kinds of things out of the base, the base 

would be a lot smaller




i.
next people would say they need to eat to work




ii.
and need an iPod





iii.
and theater tickets





iv.
you can describe anything as a cost of producing 

income




c.
but there is such a thing as a flexible spending account





i.
employer takes some of your income, puts into a 

flexible spending account, you show receipts, and can use for commuting

-
capped at about a year’s worth of subway 

fares in NYC – it is to encourage public transportation




d.
notes

i.
if reimbursed, employer can’t deduct unless employee could have





ii.
if you are doing work during your commute – 

doesn’t matter




iii.
exception – if transportation is due to unsafe 
conditions





iv.
McCabe – couldn’t drive the most direct route 

through NJ because no NJ permit for his gun

-
and he had to have his gun with him 

according to employer rules






-
none of that matters – location of one’s 

home is personal, and in this case not business related





v.
tools






-
no deduction if you need to drive to bring 

needed tools





vi.
exception – cop claimed he was always on duty – so 

they let him deduct his commute




e.
employer can distribute metrocards and parking spaces





i.
those are deductible under 132(f)



2.
§ 162(a)(2)



a.
food and lodging are deductible for overnight trips – United 

States v. Correll

i.
away from home means overnight





ii.
this certainly causes additional overnighting




b.
then we have to define home





i.
it is your primary place of business




ii.
so it is where you work, not live





iii.
and you have to be away from you principal place 

of business ON business



c.
it must be expected to be less than a year, and must be less 
than a year





i.
§ 162(a)(3)





ii.
after a year, your principal place of business has 

changed





iii.
so you can deduct the year, not after that






-
only as long as you expected it to only be a 

year






-
so lots of firms will lie and say they only 

expect it to be a year




iv.
you could go back to “home” for a while to re-

establish it, but you would need to go for business

-
if one place is business, one personal, no 

deduction, that is Hantzis




d.
Hantzis v. Commissioner





i.
must be away from business on business




ii.
see Flowers – 3 requirements to deduct





-
reasonable and necessary






-
away from home






-
necessitated by the exigencies of business





iii.
here, she claimed Boston was home, but she had no 
business/employment there, just school



e.
2nd Circuit case





i.
Rosenspan v. United States




ii.
home could be your residence, if no principal place 

of business





iii.
this was an actress, though





iv.
not clear if they were rejecting the I.R.S. position





v.
but if you are a traveling salesman, you can never 

deduct, so you try to set up mom’s house a your principal place of business




f.
policy





i.
why allow this? it is clearly consumption




ii.
well, you have to pay extra for food and lodging 

you might not prefer






-
so then we should just let people deduct for 

the extra






-
but if that was the rule, people would eat 
Powerbars at home and at the Four Seasons on the road






-
it would be too hard to figure out the figures 

on this one




g.
if you go home on the weekend





i.
and employer reimburses you – that is deductible





ii.
although it is for pleasure





iii.
should go to office first, but people don’t




h.
if you are wrong





i.
you owe tax plus interest





ii.
penalties for fraud/negligence





iii.
but you can rely on lawyer






-
almost like paying for insurance



3.
traveling between 2 places of business is deductible – it’s not 

commuting


B.
ENTERTAINMENT AND BUSINESS MEALS



1.
162(a)(2) – 




a.
food and lodging are deductible for overnight trips



2.
if not out of town



a.
§ 162(a) and § 274



b.
paying for the client’s meal is deductible



c.
still the three requirements:




i.
ordinary and necessary





ii.
business or trade





iii.
carrying on of




d.
Moss – on a regular basis with coworkers is not deductible




i.
if it was only once in a while, it might be deductible




e.
but if it was with a different client everyday, then it might 

be deductible




f.
but it is the idea of doing it everyday with the same people 

that makes it not deductible



3.
notice that § 119 – makes employer provided meals on premises 
deductible



4.
notice that under 274 – you don’t need to actually discuss business, 

just need to be present with a client

a.
and you need to have discussed business in association with 

the meal, even if a week before



5.
§ 274(a)(1)(a)




a.
harder for entertainment – must show it is directly related 

to the business




b.
such as a clothes designer going to a clothes show




c.
or a substantial business discussion



6.
losers are people who cannot fund their consumption through a 

business



7.
50% rule - § 274(n)




a.
employer can only deduct 50% of the ultimate cost




b.
basically, whoever ultimately bears the full cost, can only 

deduct 50%




c.
but if employee pays and gets reimbursed, can deduct all 

(and employer can only deduct 50%)




d.
reason is employer has all the records




e.
this was hotly contested – people thought it meant people 

would go to restaurants less





i.
but it didn’t make a huge difference, so that shows 

you taxes were not driving this particular activity


B.5.
ORDER OF SHIT


1.
look at 162 to see if deductible



2.
look at 62 to see if above the line or itemized

UNIT IX – TIMING OF DEDUCTIONS

III. DEDUCTIONS AND CREDITS

1.
DISTINCTION BETWEEN DEDUCTIBLE BUSINESS EXPENSES AND 

NONDEDUCTIBLE CAPITAL EXPENDITURES


A.
TAX DEFERRAL – THE IMPACT OF THE CAPITALIZATION 

REQUIREMENT
1.
if we buy a machine worth 10,000, and it will be worth zero in 5 years

a.
we have three options:

i.
deduct all in first year - expensing

ii.
final year – on disposition

iii.
spread it out – depreciation (for tangibles – for 

intangibles it is called amortization?)
b.
but we are not indifferent because of time value of money

c.
look at tables in back of book – page 827
d.
so examples:

i.
deducting 10,000 at 40% tax rate is worth 4,000 
today





ii.
on disposition – what is 4,000 worth in 10 years 
assuming a 5% discount rate?






-
.784 x 4000 = 3136





iii.
spread out evenly = 2,000 at 40% for 5 years






-
.4 x 2,000 = 800






-
.952 x 800 = 761.6






-
.907 x 800 = 725.6






-
.864 x 800 = 691.2






-
.823 x 800 = 658.4






-
.784 x 800 = 627.2






-
= 3464





iv.
so now we can compare them on equal terms




e.
remember deductions are worthless unless there is income 

to offset them with





i.
unless you can carry them forward, which is rare





ii.
or get a refund back – which is also rare




f.
next – if we make 1,000 in year six – we have to declare 

that




i.
but, the deductions are still the same when it comes 

to time value of money



2.
policy



a.
government wants at disposition, taxpayers want at 

purchase

b.
why not let people expense everything?


i.
well, the machine is to provide income over time, so 

deducting all at first would mean under taxing early and over taxing later





ii.
to deduct on disposition would be the opposite





iii.
and it is not all the same because of the time value 

of money





iv.
so we want to try to spread things out so that money 

spent to make income is deducted when that income is generated

-
it is a bit arbitrary because we have a yearly 

system

-
and an inaccuracies are a benefit to 

government or taxpayer





v.
so we have to put things into categories



c.
imagine if it takes us a year to write a screenplay, with on 

pencil, and it is down to the nub at the end

i.
we expense that in year one because it can’t be used 

to generate more income in year two, it has been used up





ii.
so – if something is used up in the first year – we 

expense that




d.
what is not expensed is things that produce income over 

several years
i.
but what is spread out, what is year of disposition?

ii.
land – on disposition – no wear and tear, doesn’t 

disappear
-
deduct from the sale price what we paid for 

it




e.
analogy to not actually taxing the yield




i.
buy a machine for 20,000




ii.
make 15% on it each year






-
3,000





iii.
taxes at 50% drop that to 7.5%






-
1,500





iv.
but if you can deduct it immediately, that is like a 

check for 10,000






-
price got cut in half, now it only cost you 

10,000





v.
making 1,500 each year on 10,000 is 15%





-
so your return is 15% again





vi.
so it is almost like they exempted the return from 

taxes





vii.
whereas if you had to depreciate or account for only 

on disposition, you have not saved enough to get back to 15%





viii.
this happens when the item does not go down in 
value but it gets expensed anyway






-
good way to give tax breaks without actually 

making someone or thing tax exempt






-
can think of it as a rate reduction to zero






-
remember, this only holds if: you can use 

the deductions





ix.
another thing is, if you are saving half of what you 

spend, you could buy double
-
and you borrow money to buy more if you 

can get a better return that the loan costs you





x.
perfect example is expensing land





xi.
but when we sell the asset, we would have to pay 

back the government all the money we deducted that the asset did not depreciate






-
but we got to use that money all that time





xii.
so expensing something that should not be expensed 

is like reducing tax rates

-
same with depreciating when it should be 

accounted for on disposition
xiii.
imagine it is like owing government 10,000 now, or 

in 10 years

-
that is 10,000 vs. 6140

-
to pay 10,000 on 20,000 now is 50% tax rate
-
but 6140 on 20,000 is 31%

-
this is when we should not be able to deduct 
money spent on something because it didn’t go down in value, so it was not actually a cost of business, so in the long run it didn’t cost us anything to make the income we made, because we recouped all of what was our cost
xiv.
so if you want to reduce taxes for someone, you 

allow expensing or depreciation when that doesn’t fit the reality of the asset




f.
comparisons





i.
an IRA





-
wages you put into the IRA are deductible 

now, but you pay tax on them later when you withdraw them






-
time value of money – you saved money that 

way






-
this is just like the above example – 

expensing income that you used in some way such that the amount won’t actually go down, but you didn’t pay tax on it for several years, so money you should have paid to the I.R.S., you got to use for a long time, so you could have invested it and made more money





ii.
municipal bond





-
instead of letting us expense the principal, 
I.R.S. lets us exempt the yield entirely





iii.
but notice, you might end up with the deduction in 
one bracket, and then you are paying it back in a different bracket


B.
ACQUISITION AND DISPOSITION OF ASSETS


1.
capitalizing just means something is not immediately deducted (or 

expensed) – so it is depreciated over time or all at disposition
a.
so over time is capitalized and depreciated

b.
at disposition is capitalized and not depreciated

c.
or immediately is expensing

d.
for now we are just dealing with capitalize or expense



2.
relevant provisions:




a.
§ 162 – expenses must be ordinary and necessary, can be 

expensed yearly




b.
§ 263 – capital expenditures cannot be deducted




c.
§ 263A – detailed rule on capitalization




d.
useful regulations:





i.
§ 1.212-1 – activities not trade or business but profit 

seeking




ii.
§ 263A – 





iii.
§ 263(a)


3.
examples – 




a.
payroll - § 162(a)(1) – immediately expensed





i.
to match income with expenses





ii.
but that might change if payroll is spent to produce 

income way down the road




b.
computers




i.
useful life is more than one year, so 263 and 263A 
override 162 – capitalize



c.
office building




i.
263A says business real estate is capitalized




ii.
rent – account for at the end of the term – however 

long your right to use the bldg was




iii.
buying is capitalized






-
used for income over time





iv.
but we also need to capitalize if we build to create 

parity, otherwise everyone would build

-
land we see as an asset must be capitalized

-
will produce income in the future




d.
land and lawyers fees for building the building




i.
perfecting title for something that will produce 

income in the future is capitalized - § 1.212-(1)(k)




ii.
basically, if it is part of the building of the building, 
it is added to the basis




e.
construction supplies for building the building




i.
part of the cost of creating the building, building 

will produce income over time, capitalize

-
add to basis

-
Woodward v. Commissioner




ii.
exceptions

-
although maintenance can be deducted 

(versus improvements)





-
if a single year project






-
repairing a hole in the floor of your home – 

not deductible because it is personal






-
but if it is a rental unit – that is deductible




f.
salaries of the construction workers if building a building




i.
usually salaries are expensed, but this is capitalized





-
to create parity with buying a building





ii.
§ 263A and Idaho Power make this clear






-
overhead costs associated with creating a 

building are added to the basis




iii.
same goes for lawyers who do the work




g.
a backhoe




i.
for digging holes for fences for a farmer – capitalize 

– produces income over time





ii.
for a vacation home – personal – no deduction





iii.
if used to build a building – you add the cost to the 

basis
-
but if it costs 50,000 and lasts 5 years, and 

you use it for a year, you only need to add 10,000 to the basis






-
then what is left is left

C.
ACQUISITION OF INTANGIBLE ASSETS OR BENEFITS



1.
covered by regulations and INDOPCO



a.
idea of INDOPCO was that if a future benefit, should be 

cap and dep

i.
INDOPCO was about a merger, but the language 

was broad





ii.
people were in a frenzy because much of the money 

spent on intangibles was traditionally expensed






-
such as advertising




b.
so 263 regulations issued – very liberal


2.
cost of acquiring intangible – a specific intangible – capitalized



a.
§ 1.263(a)-4(c)




b.
such as software



3.
paying for training to use the software



a.
another intangible – paying for an informed workforce




i.
but you expect to deduct labor costs




b.
exception for de minimis costs – can be expensed – on a 
per item basis



c.
so the training is expensed, the software is capitalized





i.
but the seller just wants one certain amount





ii.
so you agree with the seller to call more of it 
training, and less software, so you can deduct more immediately



4.
mergers and acquisitions



a.
if a successful takeover - § 1.263(a)-4(c) – capitalized




i.
you have acquired stock

ii.
stock is always capitalized

iii.
purchased to produce income over time




b.
investment bank




i.
to facilitate a transaction it is capitalized






-
such as lawyer fees, contract drafting, value 

advice, tax advice






-
those are all costs of acquisition





ii.
capitalize everything on or after the later of two 

dates – offer letter or when proposal approved by board
-
before that it is called exploration

-
so you try to postpone those things




iii.
in-house counsel - § 1.263(a)-4(e)(4)(i)





-
can be expensed






-
so they have incentive to use more in-house 

counsel






-
sometimes people are brought in just for one 

project



5.
prepaid expenses/insurance policies are intangibles



a.
if a multi-year pre-pay, such as rent or insurance, you 

capitalize because it is to produce income over several years
i.
§ 1.263(a)-4(d)(3)




b.
but an exception for something that straddles two years – 
can be declared in one year because things rarely go from 1/1 to 12/31




i.
such as magazine subscriptions


D.
DEDUCTIBLE REPAIRS VS. NONDEDUCTIBE REHABILITATION 

OR IMPROVEMENTS

1.
not acquiring a tangible or intangible asset

a.
you are adding to the cost of a tangible asset


b.
some must be cap, some expensed

2.
lawyer and accountant fees are capitalized

3.
improvements

a.
such as adding a floor to a building

i.
are capitalized


b.
prolongs life or adds additional value that will produce 

additional income, so you can’t deduct it now




c.
this is major projects, adding things



4.
repairs – expensed



a.
airplane rule – if we don’t do it we can't produce income, 

we should expense
i.
taxpayers love the airplane ruling

ii.
because anything that makes it so that you can’t 

operate, you can expense

iii.
and you can make that argument on most things


5.
litigation comes up for the in between cases



a.
government wants to say the asset is better than it was 
originally

E.
antiques



1.
if for home – no deduction – personal


2.
if for business – and only for use in one year – deduct



3.
if for business – and use over time – such as for reception area – 

capitalize

a.
if it will go down in value, depreciate

b.
if it will hold value or go up, don’t

4.
RECOVERY OF CAPITAL EXPENDITURES


A.
DEPRECIATION



1.
two main issues



a.
how do we do it




b.
how should we do it



2.
“economic depreciation”



a.
you measure the actual decline in value




b.
won’t ever happen – too impractical


3.
two options for economic depreciation



a.
cost of renting it – but we are buying not renting




b.
measure the actual decline in value from beginning of year 

to the end




c.
straight line is better – for the taxpayer – you are 
undertaxed at first and then overtaxed – but the overtaxing is later so it can’t make up for the time value of money



4.
so, how to do it



a.
the first question is to expense or capitalize





i.
§ 179 – even if it should theoretically be capitalized, 

is there an exception that allows me to expense it instead?




ii.
or the reverse, but that is rare




iii.
§ 179 allows a business deduction up front of 
100,000 in tangible property if total investment in such property for the taxable year is 400,000 or less

-
that is a huge incentive – can be like 

exempting the yield – see above






-
can’t use it if you have large investments, 
large losses, business is intangibles, business is real estate, or labor





-
otherwise, benefits small businesses because 

of time value of money




b.
last thing about 179, look at 1016




i.
adjusted basis stuff





-
basis is cost or value if you receive an asset




ii.
what do we do with the basis remaining after we 

expense 100,000?

-
tangibles are depreciated, intangibles are 

amortized





iii.
we need to know the amount first – 100,000 here





-
and the useful life






-
how long will it produce income?



c.
provision is § 168





i.
what’s the life?




ii.
then the recovery period




d.
notice some things are statutorily given recovery periods





i.
page 168




e.
168(b)(4) – assume scrap/salvage value is zero





i.
you depreciate the entire basis, without preserving 

any of it




f.
next thing to know is, how do you divide up the basis over 

the recovery period?




i.
anybody can elect to use straight line





-
but no one does






-
because the accelerated one is better value







-
time value of money – more 

deductions earlier







-
unless you have less income at first







-
or you prefer a simpler method






-
the way it works though, is you take the total 

time left and divide the total basis left by that amount






-
don’t forget the convention!





ii.
double declining balance is the accelerated 

depreciation method, I guess

-
take 1/recovery period in years

-
times 2

-
take that percentage out of the basis, deduct 

it






-
example – 1/5=20x2=40%






-
you keep the percentage, but apply the 
newer lesser balance the next year




g.
and don’t forget the convention – 168(d)




i.
half-year for first and last year for most tangibles




ii.
real property – mid-month – 




iii.
rare cases – mid-quarter



h.
another complication not to forget: you have to calculate 

straight line and double declining balance for all years
i.
you compare the two and use the larger number
ii.
once you switch to straight line, you stick with that
iii.
Schenk says you’ll get a year with both the same 
(year 4? for 5 year periods?), then straight line is higher



5.
if you sell early/when you sell



a.
you subtract the basis into the amount realized



b.
won’t usually match exactly



c.
if the amount realized is more than the adjusted basis, you 
got the use of taxes on the difference for all those years basically tax free




i.
at least to the extent of what you depreciated but it 

didn’t depreciate





ii.
which would be everything besides appreciation, if 

any





iii.
with time value of money, this is a big benefit



6.
real estate




a.
residential is 27.5





-
non-residential is 39




b.
both use real straight line




c.
and half-moth convention




d.
see her table



7.
intangibles




a.
they are amortized, not depreciated



b.
§ 197



c.
15-year term, straight line




d.
excluding – land, financial instruments, computer software




e.
goodwill IS amortized




f.
policy





i.
tax expenditure for people who pay for goodwill but 

it doesn’t decline in value

-
or if it lasts more than 15 years





ii.
penalty for people whose intangibles last less than 

15 years




iii.
normative if asset lasts exactly 15 years and 

depreciates at same rate each year – few people if anyone





iv.
congress did 15 years because whatever you do is 

arbitrary



8.
note to self



a.
first decide if it is expensed, depreciated, or capitalized 

only

i.
based on how long it should produce income, 

whether it will decline in value, whether a statutory provision on point



9.
she didn’t do this one in class, but:




a.
if congress wanted to provide incentive for investment in 

something using cost recovery system, how?





i.
expense all or some, or





ii.
shorter recovery period





iii.
accelerated depreciation





iv.
etc., if this comes up, look at her unit problems



10.
luxury automobiles? – see page 337

UNIT X – INTEREST DEDUCTIONS ON LOANS

III. DEDUCTIONS AND CREDIT

6.
INTEREST


A.
general structure of the interest deduction



1.
skipping timing for now, just whether it is deductible or not



2.
simply put – you can deduct interest on borrowing for a trade or 

business




a.
it’s a cost of producing income




b.
example:





i.
A uses 100 cash to buy a machine to make 10





ii.
B borrows 100 to buy the machine to make 10, but 
also owes 10 interest, and uses 100 cash to make 10 interest




iii.
they are economically the same




c.
remember, no deduction for personal/consumption 

borrowing



3.
another example



a.
two people:





i.
A uses 500 to buy a house





ii.
B uses 500 to make 20 interest, and gets a loan for 

500 for a house, bank charges 20 interest






-
for B, the 500 and the 20 wash out, he is left 

with a house worth 500 just like A





iii.
so economically A and B are the same






-
imputed income of living in the house might 

vary, but assume it is the same






-
but B will get taxed on the 20 he makes on 
interest, so we need to let him deduct the 20 he loses on interest on his loan
-
although this is not a trade or 

business context, but this is the general idea







-
actually, you can deduct interest on 
home mortgages - § 163(h)




b.
add Larry




i.
who also has 500, but puts it in the bank and uses 

the 20 interest to pay his rent for the year





ii.
economically he is the same as the others






-
although he isn’t buying






-
and house value might change differently 

between the 3 of them






-
possible variations in imputed value/income





iii.
but Larry is taxed on the 20, and no deductions for 

rent





-
so that is an inequity






-
so we could take away B’s deduction, then 

he is equal with Larry





-
but then A is better off






-
so maybe Congress wants people to buy 

homes




c.
add Marvin





i.
he likes to sleep outside





ii.
he uses the same 500 to make 20, but he spends it 

on iPods, theater, food, vacation





iii.
to make him equal we would have to give him a 

deduction also, and then we are letting people deduct all consumption




d.
so how do we solve this?




i.
just favor housing?





ii.
no one gets a deduction? – A gets a windfall





iii.
not taxing imputed income is the whole problem




e.
our current system:

i.
favors those purchasing homes because they can 
deduct the interest, but those renting cannot





ii.
§ 163(h)




f.
who would lobby to keep this?




i.
well, this decreases the cost of buying a house 

because you end up paying less tax

-
you save money





ii.
brokers





iii.
people who provide services for houses





iv.
banks – can charge higher interest




v.
builders




g.
who would be happy to see it go away?





i.
landlords, renters




ii.
anyone who sells things that compete with houses – 
such as yachts




h.
so we wildly invest in housing – for al these reasons:





i.
imputed income is not taxed





ii.
is you use a mortgage/debt to purchase – interest in 

deductible





iii.
real estate taxes are deductible





iv.
when you sell – no tax on the gain



i.
so housing is favored





i.
congress and the people think it is a right, think it is 

important





ii.
disincentive to rent





iii.
consumption will never be deductible




iv.
housing is, dollars are dollars, but not all are 

deductible



4.
another example – 



a.
if you have 3, and need 2 more





i.
you take a loan





ii.
you need computers and a fridge




b.
if you want the business deduction, it matters which dollars 

go where





i.
but that is hard in practice




ii.
usually it all ends up in one bank account




c.
so I.R.S. has a presumption that benefits taxpayers




i.
you presume the first dollars spent are on business





ii.
or you presume the loan proceeds go to business





iii.
temp regulations but no better ideas



5.
business interest deductions:




a.
§ 163(a) – deduct as paid unless must be capitalized – such 

as with a building construction



6.
investment interest




a.
if you incur debt to make investments – deductible - § 

163(d)
i.
but not more than your investment income





ii.
and § 212



b.
but if it is gross stock – only goes up in value but doesn’t 

pay money out





i.
you have to carry the interest deduction forward – § 
163(d)




ii.
but it not on an asset by asset basis





iii.
so you just make sure you have investment income 

to use the deduction to offset – time value of money



7.
muni bond



a.
can't deduct interest for loans used for muni bonds





i.
§ 265(a)



8.
so there are all these categories, so it matters what the loan 

proceeds are used for if we want to deduct the interest



9.
home mortgage interest - § 163(h)



a.
deductible if used to acquire, construct, or add capital 

expenditures to a primary or secondary residence up to 1 million dollars of debt
i.
but most people don’t borrow that much




b.
and also can deduct interest on up to 100,000 of home 

equity loan if secured by your personal revenue regardless of what you do with it

i.
equity is whatever portion of your home you own – 

such as if you buy a home for 900, use a loan for 700, and cash for 200

-
that 200 is equity

-
you can sign that to a second bank, and get 

the 200 to spend on whatever you want, and deduct the interest you have to pay on 100,000 of it






-
also § 163(h)





ii.
renters have no equity, only homeowners do





iii.
tax-deductible interest is something people are told 

about, encouraged to use

-
so they get loans for their equity, on top of 

the first mortgage

-
and when they can't keep up the payments, 

they are fucked

-
depending on recourse or non-recourse




c.
this all works for a second home also





i.
but the total you are deducting the interest on can't 

be over 1 million





ii.
I believe that the home equity 100,000 can be in 

addition to that



10.
the second rule – after looking at what the money is used for



a.
is we try to follow the proceeds if we can




b.
interest on loans used for construction





i.
money from the bank goes directly to the contractor





ii.
that interest has to be capitalized




c.
or margin loan from Merrill Lynch





i.
proceeds to buy stock from ML, all money in the 

same institution




d.
student loan interest





i.
goes right to the school




e.
when we can't trace it – if one mixed bank account




i.
we assume the first money spent is the loan money




ii.
so you buy your business/investment stuff first, the 

consumption stuff last


B.
TAX ARBITRAGE



1.
§ 265 – no deduction for expenses or interest used to generate tax 

exempt income



a.
that was added because people could abuse the tax system



b.
using the combo of tax-exempt income and deductions




c.
for example





i.
loan charges you 10%, tax-exempt bond at 8%, 

deduction makes loan only charge 5%




d.
that is tax arbitrage, 265 was added to the code to get rid of 

that



2.
growth stock – gross stock



a.
the longer you wait to sell, the less tax you pay because of 

realization rule and time value of money

i.
you can take a loan to invest





ii.
163(d) says you can't deduct more in any year than 

you made





iii.
so you can't deduct interest on borrowing to 

purchase growth stocks that produce little or no current investment income



3.
dividend stock




a.
163(d) – 



b.
so you can't deduct interest on borrowing to purchase 

dividend stocks which would be taxed at 15% capital gains rate



4.
a second home/vacation home



a.
this arbitrage is allowed – codified – 163(h)




b.
assuming you are using it not selling it – your utility is not 
taxed, and you can deduct the interest on the loan, so the interest rate on the loan drops by the tax rate

i.
there is another provision that allows you to deduct some of the gains when you sell, though




c.
if you rent it out – your gains are taxed, so that is not 

arbitrage



5.
expensing a machine when you should capitalize it



a.
that can be like exempting the yield – see above – so this 

is/can be arbitrage



6.
for vacation: take a loan or cash out a CD



a.
well, if the loan charges more than the CD makes, you cash 

out the CD




b.
but if it is a home equity loan, you can deduct the interest, 

so then the CD might be making more than you lose on the loan, so you take the loan and keep the CD

i.
example – 3% loan, 4% CD


-
vs. cash out % CD


-
in the first case – you are still making 1%



7.
remainder interest in a trust



a.
100,000 sits there, you get it in 20 years




b.
so you take a loan for it?





i.
no – the loan is probably more than the rate of 

return with taxes





ii.
but the tax rate when you cash out becomes less 
because of the time value of money, so now maybe it is worth it

C.
SHAMS AND TRANSACTIONS WITH NO “ECONOMIC PURPOSE”



1.
Knetch v. United States



a.
basically, he gave a bank 4,000, he would only be paid 

back in 23,000 years



b.
 a loan and money never changed hands




c.
the interest he owes on the loan he deducts, but he is 

getting annuity payments, so he owes the bank some, but is making way more on deductions




d.
court said there was no economic purpose





i.
loan and money didn’t change hands





ii.
wont allow the deduction for investment purposes





iii.
economic substance doctrine used – there was none





iv.
so if the only purpose of the transaction is tax 
benefits, court will disallow the deduction



2.
so if no economic purpose, only tax benefits, court will disallow




a.
compare to the home deduction arbitrage – court won't 

challenge that because it is specifically allowed by statute

i.
same with the home equity loan deduction




b.
anything authorized by statute won't be challenged



c.
otherwise – you want some pre-tax profit, and huge after 
tax profit

UNIT XI – DEDUCTIBLE PERSONAL EXPENSES
III. DEDUCTIONS AND CREDITS

9.
PERSONAL DEDUCTIONS


A.
THE STANDARD DEDUCTION



1.
§ 63



a.
$3,000 or $6,000



2.
you don’t itemize unless itemized deductions would total more 
than the standard deduction

a.
for simplicity?


i.
then it is a windfall for people who don’t have much 

itemized deductions


ii.
and not a penalty – because if you have more, you 

itemize



b.
or as a floor, beneath which no tax should be applied




i.
was supposed to be with poverty line, but got out of 

synch with that, so they added the earned income tax credit




c.
Bill Gates – should he get the standard deduction?




i.
yes if simplicity, no if about poverty





ii.
although itemized deductions are capped, and it is 

taken away altogether from people making more than 150,000/year


B.
PERSONAL EXEMPTION



1.
complex, but it is 2,000 for each taxpayer, and 2,000 more for each 
you are supporting (more than 50% of their support)


C.
CHILD TAX CREDIT


1.
dollar for dollar tax credit at the very end



2.
1,000 per dependent kid under 17


3.
phased out as income goes up



4.
incentive to have kids




a.
or to offset cost of having kids



5.
it is refundable – you can actually make money on it



a.
but only to the extent of 15% time something


D.
EARNED INCOME TAX CREDIT



1.
§ 32


2.
refundable, for wage-earners, low income



3.
phased out to avoid cliff effect



4.
can take the earned income tax credit and the child tax credit in 

addition to the standard deduction

10.
PERSONAL ITEMIZED DEDUCTIONS


A.
Employee Business Expenses, Cost of Having tax return done, Investment 
costs – not interest, but fees – § 212 expenses, Home Mtg Interest, Taxes – property, real estate, state & local income taxes – you can’t deduct federal income taxes & generally can’t deduct sales taxes (except in the 5 states that don’t have state taxes), Casualty Deductions – will discuss in Losses unit, Charitible deduction, Medical deduction


B.
CHARITABLE CONTRIBUTIONS - § 170


1.
policy



a.
normative – no consumption, just passing benefit to charity 

org




b.
tax expenditure – you do get consumption, as in good 

feelings, notoriety, etc.



c.
how do we know what congress thinks?





i.
probably not normative – it’s itemized, and limited 
to 50% of adjusted gross income, and you do get benefits


2.
policy examples:



a.
if taxpayer pools money with others to buy computers for 

his daughter’s classroom, shouldn’t be deductible because his daughter is getting benefit, this isn’t normative



b.
money to a soup kitchen





i.
normative – perfect example




c.
or, another taxpayer buys sandwich ingredients and makes 

sandwiches and gives them out
i.
he doesn’t get a deduction, but he should, this is 

clearly passing on consumption to someone else
-
so this is not normative





ii.
problem is record-keeping and verification


3.
more policy



a.
assume 50% bracket – people get half their money back




i.
so they can donate twice as much





ii.
or give the same amount they would have, but get 

some of it back for themselves




b.
or you could say that this is a way of the government letting 
the taxpayers choose which charities get money, and government supplements that with the deduction


4.
can't deduct for donated services, only cash or property




a.
can't be getting something in return




b.
cash but not services – administration problems


5.
what is a charity?




a.
§ 501(c) – defines charity, basically needs to be an org



b.
Hernandez – if you getting something that could be in the 

market, we can't allow the deduction because then you are deducting money spent on consumption




c.
you need a receipt from an org that says you didn’t get any 

consumption in return


6.
the orgs you can donate to are also exempt from income tax


C.
MEDICAL EXPENSES



1.
§ 213 allows medical and dental expenses to be deducted, along 

with transportation associated with it



a.
be it’s itemized




b.
and floor of 7.5% of adjusted gross income




c.
and cannot be reimbursed by insurance or employer



2.
policy



a.
normative




i.
necessary to producing income





-
but you can rationalize all income that way, 

so there must be something more





ii.
necessary and involuntary – you spend the money 

not to be better off, but to be normal again





-
to go back up to the level you were at before



b.
what can we glean from congress about the policy behind 

it?





i.
well, 7.5% floor, so that means it would need to be 
something very bad to get above that floor




ii.
but the 80% of people who take the standard 

deduction can't use this

-
but amounts from employer plan (§ 106) and 

medical plans (§ 105) are excludable, so that makes you think this is normative





iii.
although if it was truly normative, everyone should 

be able to deduct equally


3.
can't deduct elective, cosmetic surgery



4.
policy examples




a.
§ 104 – excludes judgments won



b.
employer or personal health plan benefits are excludable




c.
free government benefits – like free health clinics – 

excludable




d.
we don’t take into account in the tax system when people’s 

bodies are worse off than before



5.
human capital – not taxed




a.
like if earning potential goes up or down – from law school 

or injuries



6.
medical costs as business expenses




a.
not deductible – large consumption element
UNIT XII – TAXABLE UNIT

IX. WHOSE INCOME IS IT?

1.
THE TAXABLE UNIT


A.
TAXATION OF THE FAMILY



1.
should everyone pay the same taxes?




a.
yes – kids and companionship are consumption




b.
no – families share money





i.
but it gets complicated





ii.
who is using whose money, what rate to tax at?



c.
why not have everyone do one return per person?





i.
combining returns means less returns to process





ii.
prevent diversion of money to other family 

members with lower tax brackets



2.
the first thing to note is that we have a progressive tax system – the 

rate itself increases



a.
so one person making 150 pays more than two making 75 

combined




b.
hypo/example




i.
imagine mom is in the highest bracket, and 5,000 

into the highest bracket





ii.
she has big incentive to transfer that to her kid if she 
can, because then maybe taxed at zero rate





iii.
you can’t shift wages





iv.
but you can shift earnings from property by 

transferring the property itself






-
so you put stocks in the kids name – kid gets 

the dividends






-
no issue if the kid is 30






-
but if the kid is 2?




c.
shift wages to 2 year old?




i.
then mom really controls the income





ii.
§ 1(g) – if the kid is under 14, the money is really 

under the parent’s control, and it should be counted to the parent for tax purposes, so it is taxed on kids return at parents rate




iii.
14 is an arbitrary number




iv.
but only income in excess of 1,000 is taxed at 

parent rate






-
below is kid rate – zero




d.
remember, gifts and transfers of support are not taxed



3.
married couples




a.
married filing jointly, why?




i.
because they share the money



b.
marriage penalty – 




i.
the progressive system means you pay more if filing 

jointly than if you file alone if you make similar amounts





ii.
it is mathematically impossible to equalize everyone



c.
marriage bonus – 




i.
you save money if one spouse is making all the 

money




d.
earned income tax credit also has incentive to not combine 

income and kids



e.
rates - it’s all in section 1





i.
higher rates still kick in, but slightly better for 

married filing jointly

-
and surviving spouse





ii.
head of household – singles who support 

dependents






-
better than filing single





iii.
married filing separately






-
the worst – for a couple still legally married, 

but can't be together long enough to put both names on the return


4.
what does married and divorced mean?




a.
marriage – 





i.
it is whatever is recognized based on where the 

marriage was entered into, except it has to be a man and a woman


B.
DISSOLUTION OF THE FAMILY – SEPARATION AND DIVORCE



1.
your status for taxes is based on your status the last day of the year



a.
Revenue Ruling 76-255





i.
you can't get divorced on New Years Eve and get 

married again 5 days later to save on your taxes





ii.
I.R.S. will see it happening, call it a sham divorce



2.
alimony – cash payments



a.
§ 71 & § 215 – it is deductible and taxed to recipient at 

recipient’s rate
i.
unless it goes to the kid – then the payor pays taxes 

at payor’s rate





ii.
but mom controls it, so she wants more of it to be 

called child support

UNIT XIII – PROPERTY

· make sure to do things in the correct order

· don’t analyze gain when there is none

· is there a realization event

· once there is one, you calculate gain or loss

1. realization

2. calculate g/l

a. equals ar-ab

b. equals b + cap ex – dep

c. equals

· cash

· services

· gift

· prop

· death

· h/w/divorce

3. recognition

4. character cap/ord

5. timing

II. WHAT IS INCOME
4.
CAPITAL APPRECIATION AND RECOVERY OF BASIS


A.
NOTES ON BASIS



1.
we have different rates – capital and ordinary for gains and losses


2.
amount realized – cash, property, liability



3.
adjusted basis - § 1016



a.
basis is cost




b.
adjusted basis is basis plus – capital expenditures – 

improvements




c.
and minus depreciation (although some things cannot be 

depreciated, some things are completely depreciated)



d.
but there are some special rules for determining basis





i.
depending on what we are talking about





ii.
depending on how the asset was acquired


B.
special basis rules



1.
property for cash – 




a.
this is the simplest



2.
property for services



a.
basis is fair market value of the property received – Reg. § 

1.61-2(d)(2)(i)




i.
at the time of receipt



b.
if it is a bargain purchase – you compensate for that



c.
if a contingency - § 83 election or not from before



3.
bargain purchase




a.
§ 1012 – basis is cost



b.
so if you got a good deal, it doesn’t matter, basis is what 

you paid





i.
unless what you saved was a form of compensation 

from employer or something like that



4.
property swapped for property



a.
the exchange is a realization event




i.
when you use property to get something, it is a 

realization event




b.
remember, you can't depreciate personal property



c.
so count it all up




i.
what the person originally has – count up what he 

put in to find his basis





ii.
he reports gain or loss, and has fair market value 

basis in the new property






-
which is sales price, or you get an appraisal




d.
if he forfeits 10,000 that he could have gotten for some 
sentimental reason – like if his property is worth more – tough, it’s not a loss
i.
giving up an opportunity is not a loss



5.
gift rule - § 1015



a.
in a panic, run down the list



b.
the donor – not a realization event (nor for donee)




c.
when donee sells:




i.
she uses the donor’s basis




ii.
(rental property can be depreciated)





iii.
she wants to know why she is getting taxed so much 

when it went down in value while she had it






-
because there never was a realization event, 

so no one paid taxes on the gains






-
and she was not taxed when she received it






-
so the gift rule just postpones gain or loss of 

the donor






-
which is good if you have gains – time value 

of money






-
so you get the gift, time value of money, but 

also tax liability




d.
if it goes down in value, if fair market value is less than 

adjusted basis at time if gift




i.
use fair market value at time of gift for donee’s 

basis




ii.
but this way, you are throwing away your tax losses





iii.
better to sell and then gift




e.
if it goes fair market value is less than adjusted basis at 

time of gift, then it goes up before sale




i.
report gain





ii.
or nothing? I think you would report nothing – yes – 
no gain or loss – see Reg. 1.1015-1(a)



f.
if you want to claim a loss – you have to use donor’s 

adjusted basis or fair market value, whichever is lower

i.
if you are determining gain, it is donor’s basis





ii.
if neither fits, you declare nothing




g.
property acquired from a decedent - § 1014




i.
basis is fair market value at time of decedent’s 

death




ii.
lock-in effects





iii.
so if you die while holding property – gains and 

losses disappear

IV. WHOSE INCOME IS IT?

1.
TAXABLE UNIT


B.
SEPARATION AND DIVORCE



2.
PROPERTY SETTLEMENTS – transfers between spouses



a.
before divorce




i.
transfers between spouses are not taxed





ii.
on disposition – same gift rules as above




b.
in a divorce or after - § 1041





i.
alimony is cash – different rules for property




ii.
gift is never a realization event




iii.
the transfer incident to divorce is not a realization 

event




iv.
must be within 1 year of divorce – and related to the 

divorce





v.
all the same gift rules, except you always transfer 

the basis, so you can transfer a loss

-
you can transfer a tax benefit




c.
mechanics





i.
just notice, that you transfer the gain, so you 

transfer the tax liability





ii.
so they also need to negotiate over the tax liability


C.
ANTENUPTUAL AGREEMENTS – transfers before marriage



1.
not § 1041 – not married and divorced yet



a.
not 1015 gift – 102 says it must be disinterested generosity



2.
Farid-Es-Sultaneh v. Commissioner




a.
a transfer of property before marriage in exchange for 

releasing common and statutory rights in the future husband’s property



b.
she reports nothing upon receipt – see Rev. Rul. 67-221




i.
which doesn’t entirely make sense





ii.
she exchanged her rights





iii.
but basis is cost not value – so she should have gain 

of whatever she received






-
because her rights didn’t cost her anything




c.
on disposition – her basis is the fair market value at the 

time of transfer



d.
to the husband – he reports his gains on transfer – just like 

with any transfer




i.
he avoids this if he waits till marriage




ii.
and after marriage – not really a gift, but 1041 

overrides the normal rule

II. WHAT IS INCOME?

8.
DEBT AND LIABILITY – EFFECTS ON BASIS


A.
remember – amount realized-adjusted basis


1.
easier to start with adjusted basis, because that is chronologically 




first




a.
basis + capital expenditures – depreciation




b.
special rule for calculating the basis?


B.
new special rule for calculating basis now – 



1.
cash you spend is basis



2.
but so is debt – like a mortgage – you just add that in with the cash



3.
that assumes the debt will be paid off/back


4.
that is a huge benefit to taxpayers because you can depreciate 

value that you never actually paid for



5.
but if it is a recourse loan, they can go after you for it


C.
foreclosure – if you can't keep up your payments



1.
the bank takes the property, sells it, and gives you the remainder



2.
it is all credited to the taxpayer – the loan cancellation and the cash 

extra – it is just as if she sold herself

D.
foreclosure for less than the loan was (because value went down)


1.
also credited to her



2.
she has to pay the difference – no tax consequences on that


3.
if she can’t




a.
cancellation of indebtedness income - § 61





i.
but we don’t net that income with her loss on the 

building because they have a different character – I think




b.
unless she is bankrupt - § 108 – not income


E.
non-recourse mortgage


1.
they can’t get anything from you on default except the property 

itself



2.
Commissioner v. Tufts



3.
well, if they foreclose for less than it is worth, and therefore have 

to cancel some debt, you might never be taxed on that income


4.
so the amount realized on a foreclosure of non-recourse type is fair 

market value, + amount of liability outstanding

F.
second mortgages



1.
only possible if you paid off some of it or it went up in value – so 

that the first loan is not covering the entire value



2.
you DON’T include the second mortgage in the basis



a.
it is kind of like you sold some of it



3.
but you do include in amount realized if someone assumes it


G.
paying more than it is worth, assuming a mortgage, all for depreciation


1.
this is Estate of Franklin



2.
he pays 10,000, assumes a non-recourse mortgage for the rest



a.
then he gets to take advantage of all that depreciation




b.
he leases it back to them to run it, the rent and the mortgage 

interest offset each other to zero cash flow




c.
he plans to default on the mortgage after he uses all the 

depreciation, so they get the property back




d.
the lessors have gain in the cash and the mortgage, but we 

will see later that they don’t have to report the gain on the mortgage until they actually get paid



3.
it is all one big tax avoidance scheme




a.
you can tell that because if the value of the property is less 
than the debt, you are throwing money away if you make a payment



b.
because you can make payments, default, and still lose the 

property and still owe them even more




c.
you are not actually buying anything if the property is 

worth less than the loan




d.
so you would be smarted to default




e.
and you never do this kind of thing on a recourse mortgage 

– because then they can go after you for the extra



4.
so if this scheme worked – he can shelter all his income from taxes




a.
a “tax shelter”



5.
this would be the end of tax as we know it



a.
so if the mortgage exceeds the fair market value by any 

appreciable amount, you CAN'T include the loan in your basis (non-recourse loans)



b.
that was the whole problem – including the loan in basis



c.
see Estate of Franklin and Rev. Rul. 77-110




d.
you can also see the 10,000 he paid as an option to 

purchase, which is what the court said, so if the value goes up, you purchase, otherwise you don’t





i.
basically they called it speculation





ii.
not a real purchase, so you can’t include in basis



6.
it was all about getting the depreciation deductions
UNIT XIV – NON-RECOGNITION OF GAINS AND LOSSES

III. DEDUCTIONS AND CREDITS
7.
LOSSES


Z.
SOME NOTES ON GAINS/losses


1.
§ 61(a)(3) – gains on property are income




a.
§ 165 is losses

A.
LOSSES IN GENERAL



1.
§ 165




a.
(c)(1) – realized losses on the disposition of property of 

trade or business




b.
(c)(2) – transactions for profit – investment losses – such as 

stock, real estate



c.
(c)(3) – casualty losses



d.
the only other kind is gambling losses – only to the extent 
of gambling wins



2.
so what can you sell and not be able to deduct?




a.
personal property – house, ring, clothes, boat, car





i.
the idea is that any decrease in value is really from 

consumption



3.
rules:




a.
losses need to be realized to be deducted




b.
no deductions or depreciation for personal use property




c.
business property – DON’T forget the depreciation




i.
before realization





ii.
then the depreciation also comes into play upon 
realization




d.
so it is:

i.
realized?

ii.
gain/loss = amount realized – adjusted basis





iii.
recognized?





iv.
character?





v.
timing?




e.
stock is never depreciated


4.
losses when selling to a relative




a.
not allowed - § 267




b.
but, if the relative then sells for gain, can offset gain by the 

losses - § 267(d)




c.
but no symmetry – if relative sells for loss – only gets to 

realize the loss that occurred while he held the property/asset



d.
this should all be familiar





i.
it is like gifts





ii.
transfers the gain, not the loss





iii.
so if you want to realize loss – you need to sell 

outside the family




e.
CAN sell to in-laws and realize loss, and nephews



f.
§ 1091 – wash sales




i.
stock sold and re-bought in 30 days – losses not 

allowed





ii.
need to be at risk for price fluctuations for 30 days





iii.
if she pays extra – add to the basis




g.
can sell to brother’s kid (nephew) and realize loss





i.
but – court can always say this is not a bona fide 

transaction





ii.
here, if nephew is young – could say the brother is 

really in control





iii.
16 – on the edge




f.
so, bottom line




i.
to realize loss, you need to eliminate all interest in 

property





ii.
this is Cottage Savings, Knetch, Fender





iii.
they can say no realization because not a real 

transaction





iv.
swapping the same things is not a transaction





v.
nor selling it and buying it right back





vi.
or selling to a relative





vii.
or to a corporation you control, and similar orgs 

(also 267)





viii.
on the edge is sales to individuals or orgs not listed 

in 267, but a court could say you still expect to get it back

-
people trying to have their cake and eat it to

-
realize loss now, but keep for longer to see if maybe it goes back up






-
if you sell and buy for market price, that 

helps you






-
if a contract for a fixed price, that is a 

damning fact


B.
CASUALTY LOSSES


1.
rare – lots of restrictions - § 165(c)(3)


2.
personal casualty losses:



a.
each loss must be over $100




b.
net must be over 10% of adjusted gross income





i.
and only the portion over 10% is available for 

deduction




c.
and it is an itemized deduction




d.
and can only deduct unreimbursed losses – those not 

covered by insurance




e.
the deduction is the lesser of adjusted basis, or fair market 

value before minus fair market value after



3.
business casualty losses



a.
if something is destroyed or stolen




i.
it is not the cost of a new one





ii.
nor the fair market value




b.
the deduction is the lesser of adjusted basis, or fair market 

value before minus fair market value after




c.
same rules as above




d.
if insurance gives you more than you lost for tax purposes – 

you have gain – must declare




e.
DON’T forget the 179 election – expense 100,000 up front


C.
LIMITATIONS TO PROTECT AGAINST ABUSES OF THE 

REALIZATION REQUIREMENT
1.
Fender v. United States


a.
this is all the shit she was talking about right above here – 



i.
when you sell and buy back from 
someone/something you control just to realize loss – court can disallow

V. CAPITAL GAINS AND LOSSES

6.
NONRECOGNITION OF GAIN OR LOSS/BASIS RULES

Z.
notes



1.
all gains are recognized, unless there is a specific nonrecognition 

section



2.
§ 121 – you can exclude up to 500,000 gains on housing




a.
must have lived there for 2 years as a primary residence




b.
makes real estate a great investment


A.
EXCHANGES OF “LIKE-KIND” PROPERTIES - § 1031


1.
the thing was – people were locked-in, because if they wanted a 

similar property, there would be major taxes in switching properties



a.
taxed on your gains, so you no longer have as much




b.
when you really just wanted the property across the street



2.
the basic idea is you keep your old basis



a.
this lets you defer your gains – which is always great 

because of time value of money




b.
so you can keep putting the taxes off till death, or a 

corporation never dies, so a corporation can just keep swapping property



c.
but this can also defer losses – which is not good for the 
taxpayer



3.
must be like-kind swap:



a.
any real estate for any real estate




b.
harder if not real estate – must be truck for truck, very 

specific regulations




c.
must be trade or business or investment property on both 

sides




i.
if anyone has personal property – must declare 

gains

ii.
so you need to be giving up trade, business, or investment property, and receiving something for the same purpose, otherwise you need to report – but it can work for one and not the other

iii.
so to use 1031, you need to be giving up trade, business, or investment property, and receiving trade, business, or investment property, you don’t care about the other person


-
so I think you can be betting trade or 
business property as long as that is what you plan to do with it, even if it was previously personal (for the prior holder)




d.
it is a realization event, but not recognized, you keep your 

old basis


4.
with two people, but one wants cash, other wants a swap



a.
involve a third person – an official intermediary




b.
intermediary – gives cash for property A, swaps A for B, 

keeps B



5.
if they are not equal value – need to throw in boot




a.
amount realized should be the same for each



b.
you have to recognize gain on the boot you receive



c.
then your basis in the new item includes gains, but is minus 

cash, so that should equal your old basis



6.
if you transfer boot at a loss



a.
like if you transfer stock at a loss instead of cash – can 

recognize – (say something about 1031(c), doesn’t apply)
i.
1031(c) only applies if …


-
I think the idea is you don't recognize losses 

on the like-kind property, but you do recognize losses on the non-like-kind property



7.
new basis in the new item = what he transferred (in total) + gain 

recognized – loss recognized - cash


8.
mortgages



a.
for the amount realized – take value of the property 

received, plus the debt released, (plus services received, if 

any)
i.
this should be the same for both people




b.
for the basis – his adjusted basis plus the mortgage assumed




c.
take that amount realized minus that basis = gain

i.
but you only report gain to the extent of mortgages in your favor


-
or you report all if 1031 does not apply!!

ii.
so if you were released from 10 more debt than the other, you report 10




d.
then you want to figure out the new adjusted basis so you 

can depreciate

i.
old basis – any loss + recognized gains – any cash 

(mortgage treated as cash) = new basis




e.
check it





i.
if sold right away: the amount realized is the fair 
market value – adjusted basis = should equal the old gain minus the recognized gain, which is of course the deferred gain
3. Bad debt losses

a. §165(c)(1): Business losses → more favorable treatment

i. Deductible from GI rather than AGI (are above the line)

ii. Can be taken even if TP doesn’t itemize

iii. Many are ordinary losses → deduct against ordinary income

iv. Partially worthless bus debt → deducted to the extent it is deducted in TP’s books → §166

b. §165(c)(2): Investment/transaction for profit losses

i. Above the line only if §62(a)(3),(4)

(A) Result from sale/exchange of pro

(B) Attributable to prop that produces rent or royalties 

ii. Generally → must be itemized

iii. Many investment losses are capital losses → deductibility limited

iv. Non-bus profit seeking trans that produces a loss may deductible against ordinary income

c. Bus bad debt → deductible in full as ordinary loss §166

i. Creditor has no deduction when pays out loan proceeds on assumption that will be paid back

(A) No deduction for debt that was worthless when acquired

(B) No deduction for unpaid wages or unpaid rent b/c are treated as having 0 basis UNLESS TP is accrual basis TP

ii. If he is not paid back → decrease in wealth in the amt of outstanding loan → gets deduction

(A) TP will want to try to argue bad debt (that is personal) under this b/c indiv can only deduct bad debt as short term cap loss

(1) Cap loss not as valuable as ordinary loss b/c can only deduct cap loss against cap gains

(2) Debt needs to have dominant business motive

(3) Loans to fam → not bus debts

(B) §1.166-1(c): Debtor-credit relationship must exist based on a valid and enforceable obligation to pay a fixed or determinable sum of money

iii. Guaranty: TP who sustains loss from guaranteeing a loan treated in the same manner as a TP who sustains a loss from a loan that she made directly

(A) If guaranty relates to trade or business = bad debt

(B) If guaranty relates to trans entered into for profit → nonbus bad debt

(C) Payments on loan guarantees based on personal motivation → not deductible

(D) TP must have received consideration for making the guarantee

(E) If debtor is fam member cash or property consideration must have changed hands

iv. §271: Can’t give $ to political party and then call it a bad bus debt and deduct

v. How do you know when there is a bad debt? When you are sure that you aren’t going to get paid back

(A) Voluntary cancellation of debt (by creditor → tearing up note)

(1) No deduction; UNLESS

(2) Cancellation is for bus purposes, then take deduction under §162(a)

(3) Cancellation can’t be gift

(B) Insolvency or bankruptcy

(C) Creditor should protect himself (so knows at what point can take bad debt loss)

(1) Spells out what is default

Default ≠ bad debt

(2) Judicial determination (FC or DJ proceeding)

(D) Sell debt

(1) Doesn’t trigger §166, but is disposition
(2) If have note worth 10k and sell for 4K = 6K loss

(E) Documentary evidence that will convince services that you have tried to collect

c. Distinction b/tw Profit-Seeking (Business) losses and Personal losses

i. §165: Denies deductions for personal losses other than theft and casualty → §262

ii. When res property has been used for both purposes → ask primary motive

iii. Prop first used for bus purposes, then converted to res use → ask primary motive

d. Gambling losses

i. §165(d): Gambling losses can be deducted only to the extent of gambling gains

1. Bad debt deductions.

· Treatment of debtor. The debtor has no income when the debtor receives the proceeds, no deduction when he pays back. If debtor does not pay back, debtor has COD income, usually reported.

· Treatment of creditor. When the creditor transfers proceeds to the borrower, no deduction – conversely no income when creditor gets the money back. If the creditor is not paid back, he may be able to get a bad debt deduction.

a. §166. §166 gives a bad debt deduction when debtor cannot repay creditor. §166 says we’ll treat it as if it were a realization event, and you’ll have a loss at that point.

b. §166 checklist:

(1) Has something occurred that triggers §166?

a. It must be certain that you’re not going to be paid back – bankruptcy is always treated as a triggering event, an unsatisfied judgment is always treated as a triggering event.

(2) What is the amount of deduction?

a. It is generally the amount of the loan that you haven’t been paid back, or the outstanding principal on the loan. For example, suppose A loans $10,000. Debtor pays off $3,000. When outstanding principal is 7, debtor declares bankruptcy.

(3) Is it capital or ordinary?

a. Business and investment bad debts are always treated as ordinary losses. This is good because there is no limitation. Non-business bad debts are treated as short-terms capital losses.

2. Bad debt problems. What is deductible in each of the following?

· A loans $2,000 to his best friend B. B declares bankruptcy and A is unable to collect the debt.

a. First, determine whether there was a valid loan.

(1) Danger. The danger here in the first part is that people will “loan” money to their friends and take deductible losses. Generally speaking, the courts are very suspicion of loans between related parties and friends.

(2) Ensuring A gets a bad debt deduction if B does not pay back. Form over substance applies. You have to have documentary evidence that this is a valid loan. The sorts of things that should go in this document are a repayment schedule, a security and interest. You should also have something dealing with default. Then if B doesn’t pay back and I want a bad debt deduction, try to get a judgment against your friend.

(A) Failure to attempt to execute judgment against your friend. In that case, courts will say that the reasons you wouldn’t do that mean that this is akin to a gift and not akin to a loan. There’s nothing to say I couldn’t loan you money with the expectation that you’ll pay it back. This is where form prevails over substance. You could go into court and argue that it wasn’t economic for you to pursue the judgment, in which case you might have a bad debt deduction. But the cases are few and far between where they’ll give this to you without the indicia of reliability.

b. Second, determine whether there is a bad debt deduction.

· A performs services for B worth $2,000. B never pays for these services.

a. Not a bad debt deduction. This does not give rise to a bad debt deduction in the normal course of events, because A doesn’t actually transfer $2,000 to B in cash. A transferred services, and you don’t have a cost for your services. So A gets no bad debt deduction.

(1) Different if A is an accrual basis taxpayer. The answer is different if A is an accrual basis taxpayer, and included money in income even though he didn’t get it.

UNIT XV – CAPTIAL GAINS/LOSSES VS. ORDINARY GAINS/LOSSES

V. CAPITAL GAINS AND LOSSES

0.
BACKGROUND


A.
in an ideal tax, everything is the same rate

1.
we have pretty much always had 2 rates in this country




a.
maximum ordinary rate is 35%



b.
maximum capital rate is 15%



2.
why?




a.
to encourage investment instead of consumption




b.
slightly negates the lock-in effect
1.
MECHANICS

A.
first determine if it is a capital or ordinary asset



1.
perfect example of a capital asset is stocks




a.
perfect example of ordinary asset is wages



2.
for the capital rate – need three things




a.
capital asset




b.
sale or exchange




c.
held for more than a year



3.
for rates - § 1(h)




a.
§ 1221 – defines capital asset




b.
§ 1222 – defines the terms



4.
what is a capital asset? - § 1221, especially § 1221(a)




a.
everything is a capital asset except what they list there




i.
but the listed exceptions add up to a lot of stuff





ii.
if you get through all the exceptions, it is capital, 

unless some other provision says it is not





iii.
we won't get through all the possibilities





iv.
but 1221(a) is always the starting point, need to start 

with all the exceptions




b.
1221(a)(1) – property held primarily for sale to customers 

in the ordinary course of trade or business

i.
maybe you want to sell at capital gains rate, but you 

also want to develop it/divide it up





ii.
you DON’T want it to be considered for sale to 

customers





iii.
the determination is made based on the moment of 

sale

-
although we can't mean that literally – 

otherwise it would always be for sale to customers






-
so it is really about right before the sale – 

what are you holding the property for?






-
what could you be holding it for besides sale 

to customers?







-
investment – income stream or 

appreciation







-
personal use – consumption







-
trade or business use





iv.
more than one purpose:






-
possible






-
Malat v. Riddell: - it is whatever is of first 

importance of the two





v.
to get out of this – you want it to look like an 

investment

-
bad = frequent and substantial sales

-
single isolated sale is good

-
so it would be bad to develop and sell 

piecemeal





vi.
other factors to consider: (Bramblett v. 

Commissioner)





-
nature and purpose of acquisition of the 

property and duration of the ownership






-
extent and nature of efforts by taxpayer to 

sell






-
number, extent, continuity and substantiality 

of the sales






-
extent of subdividing, advertising, 

developing to increase sales






-
business office?






-
taxpayer supervision over another rep






-
time and effort taxpayer devoted






-
how long held, how sold, agent?, develop 

selves, control, how many lots, did they do the advertising, outside advertiser, sold selves, (investor hires broker)






-
generally, the less effort the better, if you 

want capital gains





vii.
this is also about being part of your trade or 

business






-
so one sale is probably not part of your 

business





viii.
also – inventory is ordinary





ix.
Bramblett – 3 primary considerations:






-
did taxpayer have trade or business, if so 

what?






-
was this property for sale in that business






-
were these sales contemplated by taxpayer 

to be “ordinary” in the course of that business





x.
doesn’t need to be real estate – can be any property, 

I think





xi.
another option is sell to a developer partnership or 
corporation and be a shareholder in that org




xii.
maybe lease while you try to sell – that looks like 

investment




c.
1221(a)(2) – property used in trade or business that is 
depreciable, or real property used in trade or business is not capital
i.
to get out of this one – you want to change the 

character of the land so it is not being used for trade or business

-
example – stop running the farm






-
for as long as possible – 2 years or 18 

months





ii.
so this refers to land





iii.
sister to this bitch is 1231




d.
1231





i.
tax nirvana because you can get capital gains and 

ordinary losses – I think





ii.
the first thing you do is write down all your 1231 

assets





iii.
in Hodgepot I – casualties





-
gains and losses on casualties of 1221a2 

assets

→
that is depreciable property used in trade or business or land used in trade or business

→
would not otherwise be capital

→
specifically excluded by a2, and casualty is not sale or exchange, so not capital either






-
and investment capital assets






-
both need to be held for more than a year





iv.
in Hodgepot II






-
anything carried over from Hodgepot I






-
sale or exchange of 1221a2 stuff






-
condemnation, involuntary conversions of 

1221a2 assets, as well as capital assets used in trade or business






-
stuff either excluded by definition or not 

sale or exchange





v.
so first you list everything in Hodgepot I






-
add it all up






-
if losses exceed gains – ordinary losses






-
if gains exceed losses – they become 

category one in Hodgepot II





vi.
results from Hodgepot II





-
if losses exceed gains – you have ordinary 

gains and losses – keep separate and apply to rest of return






-
if gains exceed losses – you have long term 

capital gains and losses – keep separate and apply to rest of return




e.
1221a4 – a note for ordinary asset – such as inventory





i.
is also ordinary




f.
1221a5 – selling government documents is ordinary




g.
1221a3 – creative creations




i.
ordinary if sold by creator or someone with 
creator’s basis (such as through a gift)





ii.
sell painting for commission = wages = ordinary




iii.
but if painting is bought for investment – then can 

be capital





iv.
stuff prepared for you – has no basis – is ordinary






-
a3b




h.
1221a(7)




i.
the hedge is a financial instrument – it would be 

capital if not for 1221a7




ii.
with a hedge you are trying to manage risk:






-
either with cost of supplies, requiring 

someone to sell at a certain price






-
or with receipts – requiring someone to buy

iii.
if the property for whose risk you are managing would otherwise be ordinary – 1221a7 makes the hedge also ordinary where it would otherwise be capital
iv.
so we must be able to identify the hedge

-
probably called a forward contract – but that is not dispositive

-
it is cost or receipts

-
trying to eliminate risk

-
if an ordinary asset, 1221a7 or a8 makes the hedge ordinary also

-
look for the words forward contract AND managing risk





v.
if the asset you are managing is not ordinary, the 

hedge isn’t either




i.
1221a8




i.
this is about hedging on the raw materials used to 

produce your supplies – newsprint, jet fuel, flour





ii.
same as above



4.1
Arkansas Best




a.
your motive does not matter – stock is always capital


5.
and you need sale or exchange




a.
that does NOT include:





i.
gifts (not taxed at all anyway)





ii.
wages – we don’t think of a person as selling his or 

her body





iii.
proceeds from a lawsuit




iv.
interest





v.
dividends – are not a sale or exchange – but 
Congress decided to call them CAPITAL anyway





vi.
profits from trade or business




vii.
rent





viii.
royalties




b.
theory - so we are trying to tax wages and income streams 
as ordinary income
i.
like rent – you are not selling the underlying 

building – you are collecting an income stream





ii.
so the idea is that if something looks like the above 

things, it is ordinary





iii.
watch for schemes – wages would be ordinary, so if 
she asks the dean for a contract for wages, and sells the contract – she is trying to make ordinary into capital – can't allow that




c.
casualty means no sale or exchange





i.
same for rent



d.
defaulting is sale or exchange – Yarbrough




e.
discharge of indebtedness income is not a sale or exchange 

– so it is ordinary
i.
but if non-recourse – that is not discharge of 

indebtedness, so character is that of the underlying asset



6.
miscellaneous notes – 




a.
holding period is total held – not during certain character




b.
if parceled out – different parcels can have different 

characters




c.
every asset has its own character – cows, machines, house, 

etc.




d.
your use is separate from the use you sell it for


7.
Judicial Gloss:




a.
courts can disallow things as capital even if no statute on 

point




b.
Hort – you can't sell income stream in a lump sum and 

avoid ordinary characterization

i.
even if you sell in perpetuity – you still own the 

underlying asset





ii.
compare that to selling everything you have


B.
if capital – need to separate long term and short term capital assets (12 
months is the current holding period)

1.
net the short term with the short term

a.
the long term with the long term

2.
if short term gains exceed long term losses, the excess is ordinary income

3.
if long term gain exceeds short term loss, the excess is capital rate

4.
if losses exceed gains


a.
you can zero out capital gains


b.
and up to 3,000 of ordinary income

c.
the rest gets carried forward infinitely, until utilized, 

and keeps its character




d.
cite Maginnis

1.5.
EXAMPLES


A.
first – a comparative example



1.
bond paying interest, dividend stock, growth stock (assuming same 

rate of return and same risk)
a.
growth stock is best – realization rule means it all gets fully 

reinvested, and when you cash out, it is lower capital rate

b.
next is the dividend – it pays you each year, so that has to 

get taxed, so you have less to reinvest, but it is lower capital rate




c.
bond is the worst – taxed each year, and at the higher 

ordinary rate




d.
so the market has to react to this, of course it can't react 

perfectly because people pay different tax rates

i.
and the rates and risk are probably different in the 

real world





ii.
and you want a diverse portfolio anyway





iii.
and you might prefer to get paid every year – so you 

can use the money




e.
and notice – this makes the government a partner in 

everything you do – if you win government gets part, if you lose, government softens those losses

i.
we don’t get to keep all of our gains

ii.
but neither would we lose all our losses


B.
a planning question



1.
the best option for someone is pay no taxes ever




a.
if they can die and pass it on





i.
but maybe that won't work because they need 

money now




b.
or exempt up to 500,000 of gains on sale of your primary 

residence



2.
next best is to pay no taxes now, to defer



a.
gifting – 1014




b.
1031 – exchanges



3.
and also we want capital gains, not ordinary




a.
although we do want ordinary losses!!



b.
first, stop the trade or business, figure out a way to get by



c.
then figure out how to make it look like you are an investor 
not trade or business for sale to customers



4.
conclude by saying – they can save 20% on their taxes if they can 
forgo income for a while, stop trade or business, make to investment not sale

C.
short answer exam question



1.
buys a trade or business property for 200,000





i.
sells for 125,000 in four years





ii.
first, is it a realization event?





iii.
then calculate gains and losses




a.
first, expense 100,000 up front under § 179




b.
then, do your depreciation: - 76960




i.
200,000 – 176960 = 23040




c.
amount realized (125) – adjusted basis (23040) = 101960 

gains



d.
is it recognized? yes – sold for cash and no nonrecognition 

provision applies


2.
does 1245 apply?





i.
note that you do 1245





ii.
then capital calculations





iii.
then 1250




a.
200 went to 125 – but we have a gain because we 

depreciated way too fast
i.
the depreciation losses were probably at the high 

ordinary rate – business profits





ii.
but the gains now would be capital





iii.
1245 makes it ordinary




b.
mechanically: even if a capital asset, with recognized gains, 

gain is ordinary to the extent of the depreciation you took
i.
here we took 176 depreciation

ii.
gains of 101

iii.
so it is all ordinary




c.
so even if it is a capital asset – we recapture the gains at the 

same rate we took the depreciation

i.
ordinary
ii.
so the answer here is 101960 of ordinary gains




d.
note! – depreciation deductions offset ordinary income




e.
if it goes up in value




i.
the gains are ordinary to the extent of what you 

depreciated





ii.
the rest can be capital if it fits the capital definition




f.
if you have losses – nothing to recapture




g.
1245 does not apply to real estate, but 1250 does




i.
1245 you do first, 1250 last





ii.
1250 says you recapture real estate depreciation at 

25% if held for a year





iii.
but not if you used straight line depreciation – 

which most is


3.
real estate - 1250



a.
1245 does not apply to real estate



b.
1250 says you recapture depreciated gains on real estate at 

25% - but look at the book if this comes up – page 557




c.
1245 or 1250 might apply, never both

d.
yes – you do 1245 at the beginning, 1250 at the end – it affects the rate, not the character

e.
realty that goes through 1231 gets 1250 rate change


D.
to run through another example:



1.
start with usual order for each asset:



a.
realization?




b.
calculate gain or loss




c.
is it recognized?




d.
character:





i.
does 1245 apply?





ii.
if any part not covered by 1245, nor 1250:




iii.
if 1221a2 excludes it





iv.
use 1231






-
put in correct Hodgepot



2.
do this for each asset



3.
run through the 1231 formula


E.
another example



1.
1245



2.
1221



3.
1231



4.
1250



5.
in that order


F.
so that is property


G.
holding period questions – see page 624

UNIT XVI – TIMING

VI. WHEN IS IT INCOME? OR DEDUCTIBLE?-ACCOUNTING PROBLEMS

0.
INTRO


A.
cash is people



1.
accrual is entities




a.
exception is service industries – they use cash basis


B.
cash is much simpler



1.
can think of it as bill fold or cash register method




a.
if it is in your billfold – or taken out – declare it



2.
if you don’t keep books, you account for things pretty much the 

way you think of them




a.
although that does not bear much relation to economic 

reality


C.
corporations like to know what right they have to income even if they 

don’t actually have it yet


D.
there are four basic rules


1.
when do cash basis taxpayers declare or deduct



2.
when do accrual basis taxpayers declare or deduct

2.
METHODS OF ACCOUNTING

A.
CASH METHOD



0.
NOTE – IF SOMETHING IS HAPPENING IN DECEMBER – 
THERE IS PROBABLY A TIMING ISSUE!!


0.5.
notes




a.
for cash basis taxpayers – normally report income on 

receipt



1.
The Constructive Receipt Doctrine



a.
like if it is in your mailbox but turn you just don’t get it



b.
basically – if it is made available to the taxpayer, so he 

could have drawn upon it




c.
but not if there are limitations or restrictions




d.
cite Carter v. Commissioner



2.
RECEIPT OF THE EQUIVALENT OF CASH OR “ECONOMIC 

BENEFIT”




a.
an unsecured note – like an I.O.U. – is not receipt – no fair 

market value – not easily tradable




i.
vs. a bond that is worth the same amount – that is 

receipt – that is receiving property worth whatever amount





ii.
the accrual basis taxpayer has income when he gets 

the right to the income






-
so if the cash basis taxpayer had income 
when receiving an I.O.U., we have eliminated the difference between the taxpayers





iii.
generally, a secured note is taxable when received – 

such as a check
-
a mere I.O.U. is not




b.
so the cash basis taxpayer has three kinds of income





i.
actual receipt of something of value





ii.
constructive receipt of something of value





iii.
actual receipt of economic benefit/cash equivalent





iv.
NOT the unsecured right to income





v.
yes – bad debt reduction if you never actually get 

paid



4.
EXPENSES PAID IN ADVANCE PREPAYMENTS




a.
INDOPCO case – you shouldn’t be able to account for 

costs earlier than the value you will be receiving for those costs



b.
so if you pre-pay for 3 years, you deduct 1/3 each year




i.
with one exception – many things straddle two 

years – those you can deduct in the first year


B.
ACCRUAL METHOD



1.
THE “ALL EVENTS” TEST




a.
you include when you have done everything you need to do 

to establish your right to the income
i.
same with deduction – when all the events have 

occurred to fix your legal obligation to pay



2.
ADVANCE PAYMENTS FOR UNEARNED ITEMS



a.
for gains, the rule becomes the earlier of receipt of cash or 
when all obligations are fixed – RCA Corporation




i.
with one exception: Artnell





-
the future services were so definite that 

refusal to permit deferral would be an abuse of discretion




b.
for deductions:




i.
for cash it is when paid




ii.
for accrual – when all the events have occurred to 

fix your liability to pay and that amount can be determined reasonably – RCA Corporation





-
guessing is not good enough



c.
Ford Motor – 461h




i.
Ford settled lawsuits, agreed to pay it over time 

instead of in one lump sum
-
the victims can maybe get more of they let 

Ford spread it out





ii.
Ford buys a 4.4 million annuity to pay out 24 

million in total over time

-
but they wanted to deduct 24 million up 

front






-
under 461 – accrual method – you deduct 

when liability is fixed and you know the amount reasonably





-
461b – general provision said commissioner 

could reject accrual method if it doesn’t reflect normal accounting





iii.
if Ford was allowed to deduct all up front






-
they would actually be making more on tax 

deductions than they were paying





iv.
SO – 461h – you have two choices:

-
deduct the present value of future payments – which we know is 4.4 million in the Ford case because they bought an annuity for that amount

-
OR – deduct as paid





v.
this wrecks deductions on the accrual method






-
you can only deduct when there is economic 

performance – a term of art meaning whatever the money is for has actually happened





-
for instance – you only deduct when the 

lawn is mowed if that is what you are paying for

-
if you pay two weeks ahead – you can't deduct until the lawn is actually mowed






-
no deduction till products delivered






-
bottom line – no deduction till the 

performance has occurred

3.
UNSTATED OR IMPUTED INTEREST


A.
the simple case


1.
stated interest



2.
the loan itself has no tax consequences



3.
when interest comes due – cash basis taxpayer deducts when paid 

if deductible




a.
accrual taxpayer - when time passes – whether or not he 

pays



4.
lender if cash – when received




a.
if accrual – when time passes – whether or not paid


B.
if interest is unstated – things get really complicated



1.
first – it is ordinary not capital


2.
but the idea is no one lends money for nothing – when you pay 

back more than you borrowed, the difference is unstated interest and it has ordinary character

C.
original issue discount



1.
this is basically anytime that the issue price is less than the amount 

to be paid on maturity




a.
basically, it is sold for less than it is worth



b.
spot it when issue price is less than redemption price




i.
1273 has definitions




c.
issue price is the original amount transferred from lender to 

borrower




d.
redemption price is the amount transferred at the end




e.
when those two amounts are different – it is original issue 

discount – it is interest, unstated



2.
so the original issue discount rules do three things




a.
the interest is original issue discount – interest – and must 

be treated as such – ordinary character




b.
we have to account for it over time – whether you are cash 

or accrual – not all at once




c.
you account for it over time as it economically accrues





i.
you know the beginning amount and the end 

amount, and the years, you plug it into the calculator with irr button – get a rate




ii.
you assume it is compounded semiannually – 






-
so for example if the rate is 10%:






-
you do 5% twice a year compounding the 
interest each time




iii.
then, for the year, the borrower deducts the two 

payments, lender includes them

-
same for each year





iv.
what does the lender report when he receives 

10,000 in the final year?






-
nothing, his basis has already been increased 

to 10,000 over time



3.
if you sell early for less than the full amount (lender)



a.
lenders basis is what he sells it for, his basis has already 

been increased
i.
but if he sells for more than you would expect, the difference is appreciation, interest rates have changed, it is capital gains




b.
borrower has no effects – still owes the same amount



4.
partial original issue discount – some stated interest, but the 

redemption price is still more than this issue price – difference is original issue discount




a.
start with the regular interest payments:





i.
borrower






-
when paid if cash






-
at the end of each accrual period if accrual





ii.
lender






-
when received if cash





-
when due if accrual – end of each accrual 

period




b.
then the original issue discount





i.
you need the rate – will be given or use calculator





ii.
find what interest would be due each six months, 

subtract the payment made/due





iii.
rest is original issue discount





iv.
lender includes, borrower deducts if he can





-
both are ordinary, but might have different 

timing?





v.
need to tell her the different original issue discount 
and stated interest amounts



5.
everyone is accrual for original issue discount rules


D.
a loan where the borrowed amount and the amount to be paid back are the 

same

1.
that is no interest – not stated or original issue discount

a.
from mom


b.
or employer


c.
or retailer or credit card company for a short time


d.
or closely held corporation

2.
there is a de minimis rule
3.
so the employer


a.
pretend amount lent was 100,000


b.
I.R.S. scales back from that amount and makes it into an 

original issue discount



i.
so they pretend the real amount lent was 74620


c.
so the borrower has income of the difference in year one – 

25380

i.
employer deducts if he can



d.
then the two six month interest payments are presumed 

paid





i.
employer counts it as income





ii.
employee deducts if for business, investment, etc.




e.
for the system in total it ends up being a net wash




i.
unless employer is tax exempt





ii.
or employee uses it for consumption



4.
mom




a.
with employer we presume it will be paid back




i.
with mom it might not be




b.
for the rate we use the federal afr




c.
we don’t use the original issue discount method





i.
we assume 10% interest, which we assume the kid 

to give to mom and mom to give right back




d.
so when kid gives to mom:





i.
mom has income





ii.
no consequences to kid




e.
then mom gives back





i.
gift for kid – no consequences





ii.
but mom can't deduct




f.
this is to approximate mom paying interest on a Citibank 

loan for you




g.
better to just call it a gift


C.
INSTALLMENT METHOD



1.
first thing is that if someone assumes your mortgage, that is part of 

the amount realized, usually at face value
a.
rarely different – only if something wrong with the interest 

rate



b.
so the amount realized is cash and face value of notes – the 

total amount you expect to be paid



2.
policy – don’t want to tax it all right away because it is not all paid 

right away

a.
although that kind of thing has not troubled congress in some other contexts – like if you receive stock in a close corporation, you are taxed even though you have not received any cash



3.
mechanics - § 453




a.
you know a 453 disposition when there is payment form 

buyer to seller in a year other than disposition – be it just one or many




b.
for now we are assuming stated market interest





i.
which would follow normal rules






-
include in income, deduct if not 

consumption



c.
for our example – assume 400 adjusted basis, 800 amount 

realized




i.
paid back in 200 cash in year one and three 200 

notes for each of the next three years




d.
seller does not report gain until he receives it





i.
installment sales do the same as annuities, some is 
return of capital, some is profit

-
some is taxed, some is return of basis



e.
the ration is gain over amount realized





i.
here that would be 400/800 or 50%





ii.
so each 200 payment is half profit half return of 
basis





iii.
half taxed, half not





iv.
advantage is time value of money



4.
now he sells for a loss



a.
for example, adjusted basis is 900, amount realized is 800




b.
can take all the loss in the year he sells



c.
453 only applies to gains




d.
he doesn’t get hurt by the fact that there are notes to be 
taken



5.
you can elect out of the installment method



a.
if you have a lot of capital losses that you want to use now 

instead of carrying forward



6.
lets look at the buyer’s basis




a.
if we look back at the basis rules, basis is cash and debt 

taken on





i.
so his basis is 800





ii.
that is very pro-taxpayer because he can depreciate 

the entire amount right away, even though he doesn’t have to pay for it until later




b.
this is why installment sales are so popular





i.
seller can defer gains





ii.
buyer can depreciate right away even though not 

paid everything



7.
taking on seller’s mortgage – when basis includes mortgage



a.
assume 400 basis is 100 cash and 30 mortgage



b.
well, buyer is taking on 300 mortgage, so he is transferring 

only 500 in some other form





i.
in other words, it won't all be cash now




c.
and seller is giving no cash – just five 100 notes due in the 

next five years



d.
so don’t forget to run through all the steps – realization, 

calculated, etc.

i.
gain is reported as payment is received




e.
seller gets to allocate to mortgage first




i.
so the ratio is gain on top, amount realized minus 

mortgage on the bottom




ii.
here, 4/5 = 80%




f.
in year one





i.
buyer assume the mortgage





ii.
no consequences unless mortgage exceeds basis




g.
then, in each subsequent year, we apply the 80%




i.
80% is reported of the payments made


8.
taking on seller’s after acquired mortgage – not included in basis




a.
so it would not be an acquisition cost





i.
such as a second mortgage





ii.
so it is not included in basis




b.
so in the example, 100 is basis, 300 after-acquired 

mortgage




i.
so if sold for 800, 700 is gain




c.
recognized? yes





i.
when reported? partly in future – its an installment 

sale




d.
so gain over same amount – always 100% in a sale like this




i.
in year one you do mortgage – adjusted basis






-
here, 300-100 = 200 reported





ii.
in the next five years each a note for 100






-
that is 500






-
plus 200 = 700 = total gain




e.
you report it all but you are happy because of time value of 
money – you deferred some gains until later



9.
if interest is not stated - 1274



a.
stated would be selling for 100, plus 10% per annum on top 

of that




i.
but we need to see what to do if unstated




b.
the thing was, people would sell something for 1 million in 

10 years
i.
buyer gets to depreciate right away

ii.
seller gets to defer gains

iii.
but time value of money – that is only worth 

746200 now – the difference is unstated interest

-
no one accepts money later for nothing – 

must be interest




c.
use afr




i.
but if less than 2.8 million and afr is high, use 9%




d.
we take the total price – 1,011,000





i.
subtract the 100,000 cash paid up front





ii.
discount the 911,000 left back






-
it is due in three years, so we discount it 

back 3 years






-
using 9% discount rate





iii.
it comes out to 700,000





iv.
so the difference – 211,000 is interest





v.
so the cash plus the 700 makes the sales price 

800,000 total





vi.
we didn’t do this before because there was 

adequately stated interest – then we use face




e.
so there are two things going on, interest and sale



f.
seller first - principal




i.
seller has amount realized of 800,000






-
including down payment and note





ii.
if adjusted basis is 400, that is gain of 400





iii.
recognized, capital





iv.
when reported? when payment is made – 
installment sale – payment in the future

-
although the down payment is reported right away




g.
seller interest





i.
if interest rate is 9%, we do 4.5% for each six 

months, compounded





ii.
times the 700,000 number we arrived at




h.
buyer deducts the interest if he can – 163





i.
buyers basis is 800,000 – interest is never part of 

basis




i.
code respects your stated interest if there is some
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